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  N,N´- dialquil-imidazolio

Cationes

R

N
R

      N- alquil-piridinio

NR R´´

R´´´

R

PR R´´

R´´´

R

Tetra- alquil-imidazolio Tetra- alquil-fosfonio

Aniones

P

F

F

F

F

F

F
B

F

F

FF

Tetrafluoroborato (BF4
-) Bistriflimida (NTf2

-)

N CF3
S

O
S

O

OO

CF3

Hexafluorofosfato (PF6
-)

C

O

C

Trifluoroacetate

O
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O

S
O
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F

F
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FLUIDO Tc(ºC) Pc(bar) �c(g/cm3) � a 400bar (g/cm3) � del líquido (g/cm3) 

Xe 16.6 58.4 1.10 2.30 3.08 (sat., 111.7ºC) 

CHF3 25.9 46.9 0.52 - 1.51 (sat., -100ºC) 

CO2 31.3 72.9 0.47 0.96 0.93 (63.4bar, 25ºC) 

N2O 36.5 72.5 0.45 0.94 0.91 (sat., 0ºC) 

SF6 45.5 37.1 0.74 1.61 1.91 (sat., -50ºC) 

CCl2F2 111.8 40.7 0.56 1.12 1.53 (sat., -45.6ºC) 

NH3 132.5 112.5 0.24 0.40 0.60 (10.5bar, 25ºC) 

Butano 152.0 37.5 0.23 0.50 0.58 (sat., 20ºC) 

Pentano 196.6 33.3 0.23 0.51 0.75 (1bar, 25ºC) 
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Propiedad Gas FSC Líquido 

Densidad (kg/m3) 1 100-800 1000 

Viscosidad (cP) 0.01 0.05-0.1 0.5-1.0 

Difusividad (mm2/s) 1-10 0.01-0.1 0.001 
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CaLB, 40 °C

1-Phenylethanol (R)-acetate
ee > 99%
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(S)-1-phenylethanol       
ee > 99% �
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CaLB, 40 °C

1-phenylethylamine (R)-amide
ee > 99%

+
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ee > 99%
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medio αααα1 k1 (min -1) k2 x 104 (min -1) t1/2 (min) 

[emim+][NTf2
-] 0.66 0.0193 2.06 1392.3 

[bmim+][NTf2
-] 0.59 0.0157 1.33 565.0 

[bmim+][PF6
-] 0.34 0.0188 2.01 76.1 

[omim+][PF6
-] 0.40 0.0351 5.00 47.7 

[bmim+][BF4
-] 0.33 0.0643 12.94 17.5 

2-propanol 0.11 1.1834 240.59 0.7 
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medio αααα1 k1 (min -1) k2 x 104 (min -1) t1/2 (min) 

[bmim+][PF6
-]              0.67 0.0121                     4.51                               669.9 

[omim+][PF6
-]              0.31                      0.0078                   91.70                                             165.7 

[bmim+][NTf2
-]            0.07                      0.0070                      5.24                         114.7      

[bmim+][BF4
-]              0.47                      0.0435                      4.13                                               79.5                           

[emim+][NTf2
-]            0.28                      0.0258                      0.16                                42.5 




�
5��������+������������������������������������5��
�O*���PQO�%N

:Q��
������D$�>�������
�
������� �
� �����
���� ��� �
������$� /���� �����������
��� �
���� �D��������� ���� ����
�
��������
�����������������������
����������
������
������������������
#�����	
��������
�
�����
�������'��������������
������� 
���������������
#���$�
�
2�
��������
��� �� ��� 	
�� ��*���� ��������� ��5� ����� � ��
��� ����*������� �
� ��	
�����
� 
�����*��������
�����
� 
�*�� B̀�����
��������C�
���
��a�������
������
��������
�������
	
���
��
��
�������������$�/���������������
�����������D�����������
��
����
��
�
���
	
�� ������ ��	
����� � 
����� ��
� �����)�� 3����� *����� �
���� ���� ���
������� ,�� ���� ��
����
����������
� 

����,��� ��
������ ������'�
���� ��� ��
�� ��*���� �
� ���������	
��������
�
���
��� ����� ����*���� 

��� �����$� /����� 

���� �� ��� ����� ����*������� ��� ��5� �
� ������
��	
������ 
������
��
��
��������
���������������������������3��� �������������
����������
����
�
*��� 
���
����
��������������
��������3��� ������B�55�,�N:5�5C�������
�����3�
�
���������
�������������
3�*��������������
#������5�O;-:;0Q$��



C�
�,'�6 ! *�1 .$
+)
�)$ 1 ! $�
�
�1 !�,�
)$
),'�+"
! 6�)
)$
!#<9 +",
 .$ 1",



� -.;

C�=�
������������

�
A��3���*��������	
������
#������
�����
�������������
����������*����
������

����,���
����*������� �
� ���� ��	
����� � 
����� �
��,����� 	
�� �
� ���� �������
���� ���)
�����
�
��,����� ��
� *�+�� ��
��
���� ��� ��
�$� /
� ����� ��
������ ��� ������� ��� ����� ������
�*��
���� �
� *�� B̀�����
��������C�
���
��a������ ��� -:����:;:����������#�����
BO����PQOJ��0

:QC� �
�� ��� 0;� 3�� ����D�������
��� 0111� ������ �
������� ��� �*��
���� �
�������������
0:�����
��$�
�
5���)��� ��� �*���� � 	
�� ��� �����
���� ��� �
������� ��+���� 
���*����
��� ��� ����*�������
�
#��)����� �
� ���� ��	
����� � 
����� *������� �
� �
��
��� 3�D���
����������� ,�
�������
���*�����$�
�
������
����������
��+����
���
���������������������������

������������
�����+

�������������
��� ����*���#��� 
��
#��)�����	
������
��
� ��*�����5��3����
�����*��� ��� ��������������


����� ��������� *�������������� ����� ��� ����
��� 
� ��� �
��*� ������ ]:����)������
������
�'������,���������
�� 
��������
���������'�����������������
���������
��$�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

























C�
�,'�6 ! *�1 .$
+)
�)$ 1 ! $�
�
�1 !�,�
)$
),'�+"
! 6�)
)$
!#<9 +",
 .$ 1",



� -.=

C�@�
�������	���	



/���������������������������������������������������������������
�������������
#����Bµ���·��
:-����

������
�:-C�
�

/-��������������������������������������������������������������
����������������
#����Bµ���·��
:-�
���������
�:-C�

�

/0� � � � � � � � � � � � � � � � � � � � �����������������������������������
������ ����
#����Bµ���·��
:-����
������
�:-C�

�

H-��H0��������������������������
���
������������������������������� 
�B��
:-C�

α-�������������������������������������������������
����������������������������������/-?/��

α0�����������������������������������
����������������������������������/0?/�

α����������������������������������������������
���

�-?0����������������������������������������������������B��
C�






















































C�
�,'�6 ! *�1 .$
+)
�)$ 1 ! $�
�
�1 !�,�
)$
),'�+"
! 6�)
)$
!#<9 +",
 .$ 1",



� -.<

C�C�
-�-�����	
�	



O-Q� � �5$� ����
����A$�5
+�����6$�5��������2$�5�
������I�����#����
����,����� �
�H�
�������,�

��
�������� �,
�3�������� ���������
�G��3� ����*���#�����
������
� ��,����� �
�����
���
�������!

����(���7�����(�����7
����>.�B0110C�-N<:-81$�

�
O0Q�����$��������������/$��c�������$��������������4$�����
����A$����������
�����$��@������
���������������������

A$� 6������ �$�$� ������ /
#,��� �������
� �
��
����
�7� /������ ��� ���3�
��� �
� �3��
�,
�3����� ��� �
��*������� �����,#��� *,� ����*���#��� ��
������
� �� ��,����� 

����
����3�������
��
�
:����3��������
�����
���(�����7
�����"�����-8�B0110C�>.<:>8<$�

�
O;Q� � 5$� ����
���� 5$� %�+������ \�
�������,� ��
�������� �,
�3����� ��� ���������
� G��3�

����*���#�����
������
� �
� �3�������
����������
����������
�����J�� �*�����������(;��

0
%�������--�B011-C�<8.:<><$�
�
O=Q� � �5$�@�������$���������
��2$�/*������$����������� �$���
����4$�c�������5������,� ���

������
��,�����*���������5��
�G����������*��������
��������
���������G��J���*�����

��������(;��0
%��������--�B011-C�8<-:8<<$��
�
O<Q� � 5$� @������ �$� @���
���� 2$� /*����� �$� ���������� �$� ��
���� %$� @�
�������� �6��� ?�

�����3������ �
����������� ����
�����
��� �������3� ��� �3�� ��
�,� ��� ����������,� ���
��
������
�����,������
�������*�
���,
�3������(���7�����(��
7�����!����-N1�B0110C�
8<:>0$�

�
ONQ� � ��$5$�@��
�3������$�(�
�
��/$&$�@��H��
��&$%$�@��

�H�������
���������
��
��
��

��
�����	
�����
��2I�0��>������;>>�B->>>C�08:0>$�
�
O.Q� � 2$� 2��*�
��� �$&$�$�$� �
���������� �$@$� @��D�����
�� �$� ��
���� �$� ����������

�
�
��������� �
#,������ ���������
� ��� �:���
�� ����� ���3,�� ������� *,� �D������
��
�6���D���� �
�
�������������,� ��� ��
������
:�� �������� �
� ����
��� �����
���
,����7�	��
�A�����=<�B011=C�>N=>:>N<0$�

�
O8Q�����$�6��3���\$���������I$�6������/
�
���������������,�����
�����:���
��������
��
��

��
������
�����,������
�����
��������
����,����7�	��
��A�����=1�B->>>C�;NN<:;NN8$�
�
O>Q� � ��$�\���
��H��� �&$��
�������
�� �&$@$�6���
3����� ��3������ � � ���*����,� � � ��� � � ��G�

��������
�����
�����	
���������������,7�����7�����!����=-0�B011=C�=.:<;$�
�
O-1Q��A$4$��#,
*���6$5$�@�����3��6���
������
�����
�����������
���������:��������
���

��
�����	
��?�
������������2I0��,������
!
��D����7�����
���0	��=0�B011;C-=8:-<1$�
�
�
�



C�
�,'�6 ! *�1 .$
+)
�)$ 1 ! $�
�
�1 !�,�
)$
),'�+"
! 6�)
)$
!#<9 +",
 .$ 1",



� -.N

O--Q��&$�$����
�����&$������
���\$�@���
,����2$�$�%���,�3���$@$������
��&$�$�A�������$6$�
���%����
����3�� ������� ��� �
��
� ��
���
����
� �
� ��
��� ��	
���:�3,������ �����������
��� �� ��
��� ��� *��B���3�
��
���
,�C������ ������$� >�D� � J�� � �7���� 0.� B011;C������������������
-<1=:-<-1$�

�
O-0Q��A$&$�J�����A$A$���3�����&$6$�(��+�
����$�$�J��H���$�$�A��

H3����
��
�
��������
���

��	
�����
� �3���������
�����������������,���� ������:���������*�����
���������
���
�
;�=�N:���:I:����,�: :��
������J���*�����������(;�0
%�������08�B011=C�;>:=;$�

�
O-;Q� �$� /�H����
�� �$� A���
��� �$� \������ �$� 5�������
�#�� 5�� ��G� G����� �������,������������������������

α:�3,����,���
� ��� ����� ������� �
� �
� ��
��� ��	
��� �3�
� �
� 
�
:��
��� ����
���
�����
����(�����7
�����A�����0=�B0110C�8N.:8.0$�

�
O-=Q� �&$5$�@��*����3��&$�$�\�����5$&$�6
�������������������3,�����������������
�����G�����

�������,� ���� �
#,��� �����,���� �
� ��
��� ��	
����� (�����7
���� � "����� ->� B011;C�������������
-10>:-1;0$�

�
O-<Q� � �$���#�
����$����������� A$����
3���$�4�
�������&$�$� �*������2�������� ��� ����
��

����
��
#,�����������������
���
�����	
��?�
���������������*�
����D�����(�����7
�����
"���$�01�B011=C�NN-:NN>$�

�
O-NQ���$�J�z����$���#�
����$�4�
�������&$�$��*������\�
����������
���
�������-0:��
��
���

�����,#��� *,� ��
	�	�� �
��������� ������� @� �
� �3�� ��
��� ��	
���� -:*
�,�:;:
���3,������#���
�� *��OB�����
������3,�C�
���
,�Q������� (�����7
���� � A����� 0N�
B011=C�;1-:;1N$�

�
O-.Q� �$:&$� \���� �$9$� 23���� &$\$� ����� 9$� 53
�� /
#,������ ���������� ��,�����
� ���

��,�������� �
� ��
��� ��	
���7�A��
�����
��,��
3�
�������������,��
�����������������,��
J���*�������������(;�0
%�������0N�B011;C�--<:--8$�

�
O-8Q����$���
������%�*��:�
���������
#,�����"��������(���7����.�B->.0C�>:-0$�
�
O->Q� � �$6$@$� � ��
g������� 6$� � %��
)
��#:���
�
���� &$�$� � �
��)
�� � 6$�$2$� � ������
�����������������������

5�H�
�������
�,�����,
�3�����������D������
�
��
����
������
�����,���������*���#���
�
����������!

���(���7����(�����7
��$�8=�B0111C�>;-:>=N$�

�
O01Q��S $������
���%$�2�������%$����������$���������

���@$�6���
������3��3,����,�������

��
������
� �� ��� N:���
�� ��
������
��� ����� *,� �
�������� ��
������
� ��,����������������������������
J���!
��������0N�B->.;C�008:0;0$��

�
O0-Q��/$�5
������
��@$����������
��@$�(�3
:(���������/
#,��������
������
��
��	
��
��

�G�:�3���� �,�����7� ����,�����
� ��� *�
#,���
������
� ��� N:���
���
������
��� �����
G��3���
������
���,������0
%����*��������,��7
��$�N�B->8=C�;1-:;1N$�



C�
�,'�6 ! *�1 .$
+)
�)$ 1 ! $�
�
�1 !�,�
)$
),'�+"
! 6�)
)$
!#<9 +",
 .$ 1",



� -..

O00Q���$2$�������2$A$�(���S $�$�S 
��@����
������
�G��3�G3�����������
������
���,������
�
�	
��
���G�:�3�����,�������"�������(���7����;=�B->>>C�=-.:=01$�

�
O0;Q� �$� �3���� �$J$� @�*
�� A$� A
�3�H���
�� A$�$� @��H���� ����*���#����
� ��� ��
������
�

��,����� *,� ������
�� ��
H���� �
� ��
,�� �����,����� ��
���
�
�� ���D,� ���
����
*�F���������7�����$�
�	�������
��N�B->8<C�>-:><$�

�
O0=Q� 5$� @������ A$� 2�
��
��� �$� ��
���� 2$� /*����� A��*����,� �
�� �������,� ��� ����*�������

��
������
� �� �������� �
� ��
��� ��	
���� ��� ��
�������� �G��B���
� �7���� .� B011<C��������������
N.-:N.N$�

�
O0<Q� �2$�$���
���,��6$($����
���3�� �����
���
�����
���
���
��������
������
������
���

��,�������0����J��(���7����->0�B->>1C�-;;:-=-$�
�
O0NQ� 5$� A���
��� &$�$� (�
��,�� A�
���:����� 

������
���� 
�
:����������� �
#,���

�����������
�H�
�������(�����7
�����(���
���;1�B->8.C�.-.:.0;$�
�
O0.Q� 5$�$� 5#������� �$�$� %�
������ �$�$%$� ���#������ A��*����,� �
�� ���*��������
� ���

��
������
���,�������J����7����,��7
�����(�����7
����.=�B->>>C�---1:---N$�
�
O08Q� � �$� � 6������ � �$A$� � @���o#��� � A$J$4$\$� � 5H��� ��$5$� A����3����� �&$%$� � @��

��H������������������

I���
��:G����� ��������
� ���������
��� ��� �����#���
�:*����� ��
��� ��	
���������������������
B���
��7����.�B011<C�8;:>1$�

�
O0>Q� A$&$� J����� &$6$� (��+�
��� �$�$� A��

H3��� ������:�����,���� ���
��������������
� �
�

��
��� ��	
���� �
�� ����
��� �����
��7� 5� ������������ ��
�,��,����7�	��
� A����� =;�
B0110C�0>.>:0>80$�

�
O;1Q� 5$� ����
���� 2$� 5�������
��� �$/$� c
E����� �3������ �
���������
� ��� ����*���#���

��
������
���,������
��3�������
�������
*��������
������
�����(�����7
����(���
�$�<1�
B->>NC�N1>:N-N$��

�
O;-Q��5$�/������
��5$��
��,��\�
������
����������
������
������
�����,�������������
��
��

�����
� ��� /��3����3��� 2���� 5�22� ---1<� ����*���#��� �
� �D���
�:���,���� *��������������������
J����7����,��7
�����(�����7
��$�<-�B->>-C�-8-:-><$�

�
O;0Q��$($5$�&�
���
���$�$���
���
��
��A$6$�$����������%$���
�6�
�G�+H��6$5$�A3����
��

/���
����
���� �3����������
������ ����*���#�����
������
�����,�����
��
��������:
�������������
��(�����7
�����(���
���.8�B0110C�=0<:=;0$�



�






�

 

D


�),"!91 .$
��1(2 1�
+)































��� 3E>)$ !)'�$"!
2)+ �$')
9$
?�"1),"


 $')0��+"
+)
�)�11 .$A,)?���1 .$

9,�$+"
2)26��$�,
!#<9 +�,


,"?"�'�+�,
6�,�+�,
)$
!#<9 +",

 .$ 1",


�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



�

� -.>

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

�



D�
�),"!91 .$
��1(2 1�
+)
��1E3E>)$ !)'�$"!
2)+ �$')
?�"1),"
 $')0��+"
�)�11 .$A,)?���1 .$


� -8-

D�
 
 ��������4�
 
 �	�����	
 ��
 
��� 3E
������	���
 ����	���
 ��

�������
 ������	��
 ��
 ��	���4�A���	�	��4�
 ��	���

���-�	�	�
 ������	�
 ������	�	�
 -	�	�	�
 ��
 ��������

�4�����



�
�
D�3�

����������4�

�
��� ����
��� ��� ����
������ 	
������� ���� ������ ��� ��� �
�
������ �������F����� ��� 3��
�
�����
�������)�������
����
����F�������'����$������
�������)�������*��������
�������
����
������ 	
������� �������
��� 

� ������� ��� ��� ����
��� ������ ��� ���� ������� O-Q$� ���
�������
���� ��� ���� �
�
�� ������ ��� 

�� ��#���� ���'����� ������� �
� 	
�� �
�
��� ���
����
������ ����� ��������
���� �
,� �� ��

���� � ��� 

�� ��� ���� �
�
�� ������ ���
*��� ������
��� ������� ���
����� ��� ����� ��� �
������� �� �����
��� �������� ���

�������
������������� ��� � D����� �� ���F�� ����� �
����
����� O0�;Q$� 2���� ��
���
�
���� ��� 3�
�
�������������

���������'�
�������������
�� 
����'������
�����F������������'������O=Q$�
/
���� ������ ������������� ��*�� ��������� ���� �
� �������
���� ��� �����
�� 
� ��
'�����
������#���� ���� �
#������ 	
�� �������� �������� ���� �� ������ ��� 

�� ��#���� ���'�����
��*���� �� ��� ��
����� 
� �������
����� ��� 

�� ��� '����� �� 

� ����
���� 	
����$� 5���� ���
������� 
��������3�����	
�������������#����������������3�����������������

��3�������
���
�
,�������
���������������
��� 
�����
�
�� ��������������
����
����O<Q$�A�
���*������
������
�����������
��+��������
���������� 
���)��������������
����
����������������
��
�� 
�
���

��������������������������������������������������� 
���������3���,����'���������	
��
��	
����� ��� 
��� ��� ���
���� ���F��
��� ��� �������
���� ���)
����$� �
�� �����
������
������������ ����� �
������ ����� �����
��+�� ��� ��� 
��� ��� ���������� �
#��)������ ���
���*��
�� ON:8Q$� ��� ���

����� ���
������� 3�� ��������� 

� ���
� �
���'�� ���� ������
��������� ,��	
�� ��
� �������� ��� �
������� ��� �����
���
� ��
'����� ,� ��� �������� 
� ��� ����
����
����� �
� 

�� F
���� ������� 
� ��� ������ ��
������ ,� ����)���� O>Q$� /�� ���� ����� 	
��
�����
����
��� ��� 3�
� �
*������� ���*�+��� O-1�� --Q� ��*��� �����
���
��� ��� ����3�����
	
������� �����
��� ��������� ��� ���
������������� 
� �
� ���������� ��� ���*��
�� ���
������
���� ��
���
�����
��7� ���*��
��� ��� ��*��� 3
���� O-1Q�� ���*��
��� �����'������
*��

���
����� O--Q�� ���$�� �����
������������
� ����*��
�� 
��������
�����	
���������������
�
��#�$���
�
/
������������*�������*��
���	
���
���
�����
����#���������
���������*��
�����	
�����
����������� BA���C�� ��������� �������� �
� �
,��� ������ ��� �
�
�
�������
����

� ��	
�����
���
��

����������
��+��������������������
������
����������������
���	
�����
��������,�
��� 3��3�� ���	
�� ���� ��������� ��� �D������ 
� ,� �������
�� 
� ��� � ���*�
�
� �
� 

�� �����
������ O-0Q$�A�
���*������ �
��������� 
� �
�
����������)� �������� �������������
�������
���
��*���������*�+������*��������������������������*��
���O-;�-=Q$��������*��
�����	
�����
�����������*��������
���	
��������	
����� ���
�������
��
���
������������������
���
����
���������*�������
�������
����������������� 
�������	
����	
�����������������������
�� 
�
������������
������������
���
�����������������#����
��������������
�������������
��
���



D�
�),"!91 .$
��1(2 1�
+)
��1E3E>)$ !)'�$"!
2)+ �$')
?�"1),"
 $')0��+"
�)�11 .$A,)?���1 .$


� -80

������� ��� ��� ���*��
�� *�+�� ������
���� ��� ����� 
� BW-1� H��C$� 5� ����� ���������� ����
��	
������ 
�����B���C������������
������#�����
�

�����*��
����	
����������������
�
������
�����
����
������
���$��
�
���� ��	
����� � 
����� B���C� ��� 3�
� ��������� �����
����
��� ����� 

�� �����
������ �� ����
�������
���� ���)
����� ������ 

� �

��� ��� ������ �������*��
���� [-<]$� /����� ��
� ������
���)
�����	
�� ��������
��
� �
� ������� ��	
������ ��������
��� ��*��
����� �����
�������,�
���)
�����
��������
������
�������

����� 
����)
����B
�������
�������	
�������#������
,� ������	
��������C�� ,� 

� �
� 
� �
���)
���� ������ ����� B�$�$� �������
���*�������
3�D���
����������C� [-N]$� ���� ��	
����� � 
����� 3�
� ��������� 

� �����������
���
�������������� ����� �������
���� �
� 

�� ������� ��������� ��� ��������� 	
������� B�$�$�
�D������ 
������������������ 
�����)������	
����������$C�[-.:->]$��5���)������
������������


����� �������
���� ����� ����� ��	
���� ��	
���� �
� ���*��
��� ��	
����� ����������� 3��
���������� ��� ����*���#��� 
� '����� ��*���� �� ��� *�+�� ����� 
� ��� ������ ��� ���� ����� ���
����*������������
���#��� ��� ���
*����������'������
� ���� ����������

��
���������
��� ���
������� 
� ����
���� ���� ���� 
� ,� ���� �
� 
� ��
����
,�
���� O01�0-Q�� ,� �� ��� ���
� �
��#��
�������������������
��
������������������ ����
����
�������
�������������#����
����������
'�������� ������������������� ��������*�+����
�����
����������� 
$�5�������
������� � ����
�������
���� ��
��
���
����
��� 
������ �
� A����� ���� ���� �����
� ������ ������������
F
�����	
������3���
��
������
�����
������
��D�������������*��
�����	
���������������$��
���� �+������� ���� ��	
����� � 
����� �����
��
� 

�� ����� ����*������� �'������ O00Q�� �����
��
�
���������� 
����O00Q�,�
����
��
�����*���$�5���)������
����
�

���������
F�����
�������
�������
���)
�����,����)
�����O0;�0=Q����
�������
��������*������
���
�3���
�������
�������)
�����O0<Q����
��
�����
���
���
����

��������$�
�
6����
����
���� ��� 3�� ������*����	
�� ���� A���� *������� �
� ��	
����� � 
����� �
���
�
���������� ����� ��� ���
������� ���������� ��� ����
������ ���)
����� ������ ����� ����3������
'�������� )������� ����
��� ,� ���
��� O01�0-�0N�0.Q$� /
� ��� �����
��� �����
���� ���� ��������
��#�� ��� 3�� ���*�
���� ��� ���� 
� ����������� ��� ��� �
#���� ������� ��
� ��� 
��� ��� 

��
���*��
����	
��������������*�������
���	
������ 
����������������������*������������� 
�
���������� ��� ���� ���������� ��� ���--:��
�����
��$� /
� ����� �����
��� �� 3�� �
���#���� ���
�����������
��� ���� *����������� ��� ���*��
�� ����� ��� �����
���
� ��
'����� ��� � ���:-:
��
�����
��������
��� ���
������������� 
� ��
� '������� ��
������� ������#���� ���� ��� �
#����
���������� �������@������
	�	���
��������� B2��@C�B
 09��
D�3C$��)��������������
����
���3�����
�������������������������������*����������������	
��������
������������
����������
�������� 
���������#�������'�������������������
��
����#��������	
����� 
��������������
�
� ��� ���*��
��� ��� ��
��
���� ��� ��
�� ���� ������� ��� ��
��
����� 
� ���� � ���������
�
#��)����� �
� ��� ����������
��� ��� �����
���� 
� ,� ��� 
��
����#�� ���� '����� ��
������

����#�����������������������$��
�
�
�
�



D�
�),"!91 .$
��1(2 1�
+)
��1E3E>)$ !)'�$"!
2)+ �$')
?�"1),"
 $')0��+"
�)�11 .$A,)?���1 .$


� -8;

�

R-COO-CH=CH2

H2O R-COOH

OH
OH R-COO

(R= CH3CH2-, CH3CH2CH2-, CH3(CH2)10-)

Lipasa

rac-1-feniletanol

Éster de (R)-1-feniletanol(S)-1-feniletanol
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                                              Permeabilidad ×××× 10 6(cm/s)  SLM 

(R)-1-feniletanol (S)-1- feniletanol Propionato 
de vinilo  

Propionato de 

(R)-1-feniletilo          

Propionato de 

(S)-1-feniletilo         

Ácido 

propiónico  

Nylon  con  [bmim+][BF4
-] 152.0 151.7 21.6 13.1 

 
11.7 107.7 

Nylon   con  [bmim+][PF6
-] 43.1 42.5 12.7 6.6 6.3 23.2 

Nylon  con  [bmim+][NTf2
-] 147.7 144.6 49.9 32.8 31.7 71.9 

Nylon  con  [omim+][BF4
-] 157.5 156.2 42.7 28.8 27.7 98.8 

Nylon   con   [omim+][PF6
-] 59.4 59.2 38.6 17.1 15.8 34.3 

Nylon  con   [omim+][NTf2
-] 148.6 148.7 77.4 51.4 49.7 78.8 
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Membrana �� 

[bmim+][BF4
-] 6.3 

[bmim+][PF6
-] 3.5 

[bmim+][NTf2
-] 2.6 

[omim+][BF4
-] 3.1 

[omim+][PF6
-] 2.2 

[omim+][NTf2
-] 1.9 
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Compuesto Permeabilidad ×××× 10 6(cm/s)  �� 

Sistema de reacción  2


(R)-1-feniletanol
 134.18


(S)-1-feniletanol
 133.24


Butirato de vinilo 9.66


butirato de (R)-1-feniletilo  4.41


Butirato de  (S)-1-feniletilo 4.43


Ácido Butírico
 51.35


 

 

 
 

10.98 

Sistema de reacción 3


(R)-1-feniletanol
 105.97


(S)-1-feniletanol
 105.15


Laurato de vinilo
 0.09


Laurato de (R)-1-feniletilo 0.06


Laurato de (S)-1-feniletilo 0.06


Ácido Laúrico
 0.09


 

 

 
 

711.7 
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                                              Permeabilidad ×××× 10 6(cm/s)  SLM 

(R)-2-pentanol (S)- 2-pentanol Propionato de 
vinilo 

Propionato de                     
(R)-2-pentilo 

 

Propionato de 
(S)-2-pentilo 

 

Ácido 
propiónico  

Nylon  con  [bmim+][BF4
-] 26.28 26.35 15.50 0.46 

 
0.48 46.61 

Nylon  con  [omim+][BF4
-] 50.37 49.95 30.50 2.19 1.96 50.43 

Nylon  con   [bmim+][PF6
-] 25.80 26.20 20.99 0.63 0.57 40.98 

Nylon  con   [omim+][PF6
-] 18.70 18.77 21.28 2.07 1.98 14.50 

Nylon  con  [bmim+][NTf2
-] 48.46 48.37 46.05 6.02 5.92 44.55 

Nylon  con   [omim+][NTf2
-] 84.6 83.2 71.95 26.01 26.33 51.69 
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                                              Permeabilidad ×××× 10 6(cm/s)  SLM rP 

(R)-2-pentanol (S)- 2-pentanol Butirato de vinilo Butirato de             
(R)-2-pentilo 

propionate 

Butirato de    
(S)-2-pentilo 

 

Ácido butírico 

Nylon  con  [bmim+][BF4
-] 34.0 28.70 27.52 7.08 0.32 

 
0.31 27.13 
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Propionato de vinilo  1.10 1.15 0.71 0.22 

1-Butanol 5.21 3.63 2.46 0.68 

Propionato de butilo  0.51 0.49 0.15 0.03 

Ácido propiónico 6.77 2.43 2.66 1.31 

�
�


����� �������������
)������ ��� ���� ���
��������*��
������ ��� �������
�����
��������	
�� ����
����
��������
�

� �������������
��� ��� �������� ��?3�D�
�� B\C� �����
��)�� �
������
���
�*���*������
�����������$�2�������������
�����������6!�
F���� ����������������\��������
�
�������� ��� ��� ������ 
� ����� ���� ������
���� ��	
����� � 
����� ���
�
� ��� ����
7�
O*���PQOJ��0

:Q� U� O����PQO�%N
:Q� U� O*���PQO�%N

:Q� U� O*����PQO�%N
:Q$� /���� ���
�
����

��������D�������������*����
��������
���������������
#��)������
����O*�����PQO�%N
:Q�,�

O*���PQO�%N
:Q� �
� ��������� *��)������ � ��?��2I0� ��������� ��� �
��
������ �
� ��	
�����

� 
����� 
����#����� ����� ������� 3����'
���� BO����PQO�%N
:QU� O*���PQOJ��0

:Q� U�
O*����PQO�%N

:Q�UO*���PQO�%N
:QC��,��	
��������,������������������\��
�O*���PQO�%N

:Q�
�
����
�

����,����*����� 
���������
����������
��������	
����� 
����,�����������
����

�
��
������ �)�� �)���� �
���� ���� �
�������� ,� ��� ��
���� ������� ��� ��� �
#���$� 5���)��� ����
�����������\��
�����
�	
�������
����������������� 
���
��)���
������
����*���*������
�
O*���PQOJ��0

:Q�	
���
�O����PQO�%N
:Q$�/����3��3����������D������� �����
���������
����

�
� ���� �������� ��� ���������� �
#��)����� �
���� O*���PQOJ��0
:Q� ,� O����PQO�%N

:Q� �
� ����
��������� *��)������ B
 09��
 F�3@C� ����������� ��
� �	
������ �*��������� �
� �������
3����'
����B
 09��
F�3=C$�
�
���������
��������
����D�
��������
����������������
���������������������������
������
�
����������,�
:3�D�
���
���������������������������
#��)������*�������$�����'���������
�����������
��������������*��)��������?��2I0� ����������������*
�������������������
������
���
�����
���������������������'������������������	
����� 
����	
�����������*��������#�����
�)��	
������
 ��
����������������� 
��
#��)����$����3��3������3����E����������������
���������� ��� ���� ���� ���
��� ��������������� 
�� ��
����� �O--Q� ,� ��2I0� � �
���
�����
���
�D�������O-.Q$��������������������
������
��
���	
����������������D3�*������������
#����
2��@� �
������#���� �
� 

� �������� *��)����� ��?��2I0� ����
��� ��� ���� ��������7� ���
����������������������
��������
����
��������
#����,������	
����� 
����,�������
 ��
������
���
�����
����������������
������� ��2I0� �,� ���� ���$����� �����
���� �������
����������� 
�
���� ��	
���� � 
���� ������� ��+����� ��� ������ �������
��� ��� ���������� �
#��)����� ,� ����
��
 ��
��� ��� ���
�����
���� ��� �������� ��������
��� 

� ��+��� ����E�� ��� ���� ���������
*��)��������?��2I0$�



F�
�9)8"
�)�1'"�
)$* 2;' 1"
+)
2)26��$�
1"$
�)1 �19!�1 .$
?���
!�
,#$'), ,
+)
(,')�),


� 0.1

��������������������������
 ����*�'
���
������
�����
�
�����������������
������������������
����
#�����
������������*��)�������?��2I0$�5�������������������*���� �

��
�����
����
�
��� ������������� ��� ������������� BU>>$<�YC���
� ������������������ ��2I0� B><YC$�/�����
���
��������
���
������D�����������
��
����
��
�
���	
��������������
�
�����������������
���
���� � ��� ���������� ��� ��
�� �
� ����������*��
��� ��� ��� �
#����� ����
��� �
���� ���
���
����� 

��� ������ ��������
��� ��
� ��� �
������� ����3��� ,� ��
��� �
���� ��� ����
���� ���
3��� �����$���
�
���� ��� ��
���� ���� ��	
����� � 
����� ���������
�
� � 

� �������*��
��� ����
���� ����� ���
�
#����� ��������
��� 

� ����� �����������������
�����	
�� ��� 
��� ��� �� D���� ������*�
��
�
���������������� ���

��� ����� �
� ��� ��������*��)����� �������� ��� ���
������ 
� ��� ����
����
��������
���
����
��� 
������D���������������������	
����� 
���$��



C�:�@�
 
 �#$'), ,
 +)
 ?�"? "$�'"
 +)
 69' !"
 1�'�! *�+�
 ?"�
 ��
���� 5� 	�� ��
	�	��

�
���������������)$
, ,')2�,
6 >;, 1",
!#<9 +"
 .$ 1"AI)B�$"
�
�
/
� ����� ������ ��� �D������
���� ��� ���
�� � ��� ���������� ,� ��� ������������� �D3�*���� �����
2��@� ��*��� �
� ��� ��
������ ��� ������
���� ��� *
����� �� ������� ��� ������
���� ��� ��
����������������
B-<1���C��,�-:*
��
���B-11���C��
����������*��)��������?3�D�
����<1�R2����
������
����
�*��
���

����+���������
�� 
���� �������
��������*����������
��������������*��)������
��?��2I0$� ���� ��	
����� � 
����� 
����#����� �
� ����� ���
���� ��
� ���� ������� 	
�� ���

����#���
� �
� ���� ��������� *��)������ ��?��2I07� O*���

PQO�%N
:Q�� O*����PQO�%N

:Q��
O����PQO�%N

:Q�,�O*���PQOJ��0Q$�/
����������������?3�D�
�������
���
�������
#�����
����
�������	
����� 
��������
�����	
�����
:3�D�
�����F��������
�
�������
��������,����������
��� ����
����$� 5�� ��
��� 	
�� �
� ��� �������
��� 
� ��� ���� ��������
���� ��� ��������� ��� 3��

����#���� 
:3�D�
�� ����� �������
��� ��� ������
���� ��*���� �� 	
�� �
� ���������� �����
�������
�������������*��������������2I0��
���
�����
����
��������������� 
$��
�
������������ ��� ���� ��
���
�����*��
����� ����� ��� ������ 
� ��� ���
������������� 
� �
� ����
���������*��)��������?3�D�
������
�
�
���
������������
����5
�D��--$�


/
� ���
 09��
F�3D� ����
������ � ��� ���������� ��
�'����� ,� ��� ������������� �D3�*���� ���� ���
�
#����2��@���*����
�
:3�D�
��,��
�������
�������������*��)��������?3�D�
�$��
�
�
�



F�
�9)8"
�)�1'"�
)$* 2;' 1"
+)
2)26��$�
1"$
�)1 �19!�1 .$
?���
!�
,#$'), ,
+)
(,')�),


�0.-

0

20

40

60

80

100

S
el

ec
tiv

id
ad

 (%
)

A
ct

iv
id

ad
 s

in
té

tic
a 

(U
 m

g-
1  

pr
ot

.)

Hexane

omimPF6/ hexane

bmimNTf2/ hexane

bmimPF6/ hexane

bdimimPF6/ hexane
0

2

4

6

8

10

12

�

 09��
 F�3D��5��������� � ��
�'����� B*�����C� ,� ������������� B�

���C� ���2��@� ��*��� �
������� ��2I0� ,� �
�
�
����� ��������� *��)������ ��?3�D�
�7� O����PQO�%N

:Q�� O*���PQOJ��0
:Q�� O*���PQO�%N

:Q� ,������������
O*�����PQO�%N

:Q$�������
�����
������ ������ 
��
���
��V<1R2��������
���������
���-<1����,�-:*
��
�������������������
-11���$�






����,���������������
������ ���
 09��
F�3D�� ��� ���������� ��
�'������D3�*��������2��@�
��*��� �
� ���� ��������� *��)������ ��?3�D�
�� �
�� ��
��� 	
�� �
�
��� ��� 
����# � 
:3�D�
��
�����������3����'
������������ 
$�/
��������
���������������
�����������������
���
�*�������� �
� ���� ��������� *��)������ � ��?��2I0� ��
� ��������� ��� �������� 3����'
���
��2I0� B
 09��
 F�3@M$� ���� ,� ����� ��� �
��� ��� ��
�������� �
� ��� ��������� >$;$;�� ����
�������
��� ��� ���
������������� 
�������#����� ���� � 2��@� �
�������� 3����'
���� ���)
�
�)�� ������������ �
� ���� ��	
����� � 
�����	
�� �
� 
:3�D�
��� ���� ���	
�� ��� ���
��� 
� ���
���������� �
� ���� ��������� *��)������ ��?3�D�
�� ��������� ��� �������� 3�����
��� �
������������������

:3�D�
�� �
���� ���� �D��������� ���� ,� ����� ��� ����
� � ����� ���� ��������� *��)������
��?��2I0���������������
��������������
�����
����������������
������������������
����'����
��
�������������
�����������������?3�D�
�$�������������
�����������	
��������
�
�������
������������
�'������
��������������*��)��������?3�D�
��BO����PQO�%N

:Q�U�O*���PQO��0J
:Q�

U� O*���PQO�%N
:Q� U� O*����PQO�%N

:QC� �
�� � ��� ������ 	
�� �
� ���� ��������� *��)������
��?��2I0$��
�
5���� ���� ���
������� �
��
������� �
� ���� ��������� *��)������ ��?3�D�
�� ��������
� ����
�*��
����� �
� ���� ��������� *��)������ � ��?��2I0�� ���� ��� 	
�� ��� 

���� ��� ��
������ ���
�������
���������
������������������������	
����� 
������*�����������������
#��)�����,�����
��
 ��
���������
�����
����������������
��������E��������������*��)��������?��2I0$�
�

"
 "
 "
 "
 "




F�
�9)8"
�)�1'"�
)$* 2;' 1"
+)
2)26��$�
1"$
�)1 �19!�1 .$
?���
!�
,#$'), ,
+)
(,')�),


� 0.0

/
� ���� ��������� *��)������ ��?3�D�
��� ��� ������������� ��� ��� ������ 
� �
�� ��,��� 	
��
�
�
��� ��� 
����# � 
:3�D�
������������� ��� ������ 
� B
 09��
 F�3DC$� 5���� ���
����� ���
��������������������
#�����
��3�D�
���
������8-$.�Y��'�������
�� ���������>1$0�Y���������
��������*��)�������?3�D�
��	
�������
� ���
����������������BO*���PQO�%N

:Q?3�D�
�C$�/��
������ �����������
��� ����� � ��� �
#���� �
������#���� �
� ���� ��������� *��)�������
��?��2I0� ���������� ��
� ��� ������ 3����'
��� ��2I0$� /
� ����� ��
������ ��� �
����
��
��
��� 	
�� �
�
��� ��� �
#���� �+����� �
� ���� 
� ����������� �
� 

� ��	
���� � 
����� 	
��
���
���������������������
���
�����������*��
����������
#���������
�����
���������������
��������������������
#���$��


F�=�
������������

�
A��3��������������*������������������������������
���������������
�������*
������������������
������
���� ��� ��
���� ,� -:*
��
��� �
� ��������� *��)������ ��?��2I0� � �� <1R2� ,� 81�
*��������#���� ���� ��� �
#���� 2��@� �������#���� ��*��� 

�� ���*��
�� ��� α:��
��
��
�����������$� 2
�
��� ��� ������ 
� ��� �����# � �
� ��������� *��)������ ��?��2I0�� ���
������������� ��� ���� ��������� ��� �
�����
� � BU>>$<YC� �
� ������ 
� �� ��� �*��
���� �
�
�� D����������*�
���
�������������

	
�����������������
�'������
����
��$��
�
5���)������3�������#���������
����������������
�������*
��������*�'
��
�����������,��
�
��������� *��)������ � ��?3�D�
�� ,� ��� 3�
� ���
������ ���� ��
 ��
��� ��� ���
�����
���� ���
�������� �� ����'�� ��� ���� ��������
���� ��� �������� ��?3�D�
��� ��
� ��� ��
� ��� ��+����� ���
��
������
��� ��*��� ���� ���������*�������������� �
� ��������� *��)������ ��?��2I0$� /�����
���
����� ��������
� 	
�� ��� ������
���� ����������� ��� ������ ��������� ����
��� ��� ����
�
��������
����
���� � ����
#����,���� ��	
����� 
�����,����������
 ��
���������
�����
����
������������
���������������
�����*�������,���2I0$����������
��������'�������������������
�
#��)������ �*�������� �
� ���� ��������� *��)������ ��?��2I0�� �
���� ���� ��*���� �� ����
���������
����
�������
 ��
���������
�����
����������������������'�������������������	
��
���������*��������#����$��
�
5���)�����������������������������
#��)������
���������2I0�����+
�����
���

��������
*������ �
� ��� ����
����� ��
�� ��
�� @�:@����
� �
3�*��� 
������������� ���� ��� �
�������
����3��$�
�
/���� ���*�+�����
������ ������
�����
�����	
�� ���
�� ������*�
��� 
���� ����� ��2I0� ,� ���
���
�������������*��
�������������������*�������������
�'������������#����������
#�����
�
���
�����
����
3������	
�����
�������
�������
������������*��
��$�/
�����������������
��� ��� ���������
�� 

� �������*��
��� ����
���� ����� ��� �
#����� ��������
��� 

�� �����
�����������������
�����	
�����
�������� D����������*�
���
�������������������

��������
�
� ��������� *��)������� 3���� ����*��� ��� �)���� ���
������ 
� ��� ���� ����
����� ��
��
��
����
��� 
������D����������������$��








F�
�9)8"
�)�1'"�
)$* 2;' 1"
+)
2)26��$�
1"$
�)1 �19!�1 .$
?���
!�
,#$'), ,
+)
(,')�),


�0.;

F�@�
�������	���	



O5](�B�C���
��
������
��� ���� �
������ �
� ��� ����� 3�D�
�� �
���� ���� �������� ��� �D������ 
��

B����w��:-C�
�
[5](�B�C���
��
������
��������
�������
���������3�D�
������
'������������������D������ 
��

B����w��:-C�


4(����������
��
������������3�D�
��
����#�����
����������������D������ 
�B��C�
�
4�����������
��
���������������
����#�����
����������������D������ 
�B��C�


4 �������
����������
���
�����������*��
��B��0C





�����6 �������
��
��
���
��������������B��C




��������������������������� 
�B��
C�
�
�� �������
��
����� 
���������
�����
������������B����⋅��:-C��
�
�� � ������������������� 
�B�����⋅���
:-�⋅���:0C�



16 ������������������
��������������� 
�B�����⋅���
:-�⋅���:0C

�

��D6 ���������������)D������������� 
�B�����⋅���
:-�⋅���:0C



O�4Q1� ��
��
����� 
��
���������������
���������
����B����⋅��:-C�
�
O@
I(Q1�������
��
����� 
��
���������-:*
��
���B����⋅��:-C�
�

�"6C �����
���
���������3��������������������
���������
����B����⋅��:-C�
�

�(:C �����
���
���������3��������������-:*
��
���B����⋅��:-C�
�

�C ��������
���
�������
3�*��� 
���������-:*
��
���B����⋅��:-C�
�
�









F�
�9)8"
�)�1'"�
)$* 2;' 1"
+)
2)26��$�
1"$
�)1 �19!�1 .$
?���
!�
,#$'), ,
+)
(,')�),


� 0.=

F�C�
-�-�����	
�	�
�
[-]�����5$�$�\��*�
�������������
�����
#,������*,���
��
�����3������
�������
���������
����

>������=1>�B011-C�0=-:0=N$�
�
[0]������$�(����
�����3�����,
����������������
����������*�������,�������
���
�
��
��
���
���

�����7��3���,����������
���������
�����
�������D������
���������
��
���
��,�����
0
%����*�������,��7
��$�-N�B->>=C�-.8�:01N$�

�
[;]���� $�%�����
�����2���
�
��
��3,�����
����
����7����0
���>�D��.>�B011-C�0-:0<$��
�
[=]� � �A$4$��#,
*���6$5$�@�����3��6���
������
�����
�����������
���������:��������
���

��
�����	
��?�
������������2I0��,�������!
��D���7�����
���0	$�=0�B011;C�-=8:-<1$�
�
[<]����$��
��
����$�@���3��2$�2��*������$�@��
��
����$�����
���I�����#����
�����
#,���

�
����
��
����(�����7
����(���
�$�=1�B->>0C�;0>:;;;$�
�
[N]���A$�A������������$���������&$�����H��/������������
�����,�������������
��
������������

���*�
����D�����J��4�
��������?���	$�0.�B011;C�<<:N=$�
�
[.]� � � �$� ��#�
����$�4���������$�� ��#��5$@$���,���&$5$� A)
�3�#:2�
������$�6
*�����

&$�$��*���������*��
����������G��3�����*���#�����
	�	���
��������� �������@�����
������ �,
�3����� �
� �
������������ ���*�
� ���D����� J�� 4�
�������� ?���	$� 0>� B011=C����������������
-0-:-08$�

�
[8]� � @$� 5�:�
���� 6$� ��������� &$� @����,�� 23�������������
� ��� �� 
����� �
������ ����

*�������,���� �
� �
���������������*�
� ���D�����J��*����������� (;� 0
%��$� --� B011-C�
80<:8;=$�

�
[>]���&$�$�(��*��,���\$6$�A����
����
�����	
���������
�"��	��"�����-�B->>>C�00;:0;N$�
�
[-1]� �%$���
�6�
�G�+H��6$�����������
��6$5$�A3����
��@�������,���� ���
���������
�� �
�

��
�����	
�����,��
	��(�����7
��$�0-�B011;C�-;-:-;8$��
�
[--]� ��$���#�
����$������������$�2���'���$�4�
�������&$�$��*������I���:���*���#����
����

��
	�	���
��������� �������@�*,� ��
��� ��	
���� �
������� �,
�3������(�����7
����A�����
0;�B011-C�-<0>:-<;;$�

�
[-0]� � 6$5$� A3����
�� 2����,���� �������
�� �
� ��
��� ��	
������7���� �����
$� 0;� B011-C��������������

0;>>:0=1.$�



F�
�9)8"
�)�1'"�
)$* 2;' 1"
+)
2)26��$�
1"$
�)1 �19!�1 .$
?���
!�
,#$'), ,
+)
(,')�),


�0.<

[-;]��� $�$�6���#��S $�S ����
3e������$�%��
��t��S $�����
����@�������,�����
���
�����	
���7�
@���3G�����
����
��

�
�����G�����������
��
���
���������������*�
����D��������3��
��*�����3������7���������
$�>�B0110C�>>0:>>;$�

�
[-=]� �$� ��#�
��� �$� ���������� A$����
3���$�4�
������� �&$�$� �*������2�������� ��� �����
�

����
� �
#,������ ���������� �
� ��
��� ��	
��?�
������������ ���*�
� ���D���� �,�������
(�����7
����"�����01�B011=C�NN-:NN>$�

�
[-<]� �$5$� @��
�3����� c$� �
�� &$%$� @��

��H��� (��3:�����
��� �3���� *�3������ ��� ��
���

��	
��?2I0��,�������J��"7�����7����($�-1<�B011-C�0=;.:0===$��
�
[-N]� ��$5$�@��
�3�����&$%$�@��

��H���6������,��������
�������
�����������
�����	
����


��
���
���������������*�
����D������
	��0
����7����$��$�=1�B011-C�08.:0>0$��
�
[-.]� �$� ��#�
��� �$� ��� ������� �$� 2����'�� �$� 4�
������� &$�$� �*������ ������� �����,���� �
�

��
��� ��	
���� �
�� �
������������ ���*�
� ���D���� ��� -<1� R2�� � (�����7
���� "�����������������������
->�B011;C�;81:;80$�

�
[-8]� �$�$%$� ���#������ &$�$A$� 2�*����� /
#,������ ���*��
�� *����������� �
�� �3����

����������
���0
%����*�������,��7
��$�-N�B->>=C�.;8:.<1$�
�
O->Q� 5$6$� ������� 5$�$� ��� ���� 6����� %$&$� (��
)
��#�� �$($5$� &�
���
�� 6$� A�3�������������������������

%$���
�6�
�G�+H��6$5$�A3����
��2����:��
H�����
	�	���
����������������@�����������
�
���
��
��
����
�����	
�����0
%����*�������,��7
����=1�B011.C�-1><:-1>>$�

�
O01Q��5$�$��������6�����%$&$�(��
)
��#:%��
)
��#��%$5$������
�#���$�6
*�����$�4��������

�3�� ���������� ��
��� ��	
����������
� �������,�� ����������,� �
�� ���*����,������
	�	��
�
����������������@��
��������,
�3������(���������(�����
�$�0<�B011.C�-<-:-<N$�

�
[0-]� �$� ��#�
��� 5$@$� �'��#:����
�� �$� ��� ������� �$� � ��#�� �$� ����
���:&��
+��
���������������

� $�$� @����������� �$�$� 6����� &$�$� �*������ 5������ ���*��
��� ������� G��3�
����*���#��� ��
	�	�� �
��������� ������� @7� ����������
� �
�� ����������
� ����
��
��

�
��*
�,��*
�,����� �,
�3����� �
�����
����������J��*������4��$�01-� B0110C�
<<:N=$�

�
[00]��5$4$���������$4$�6���
���%$Z$����������\�
���������������:����������,
�3��������

*
�,��*
�,������
�
:3�D�
���(���������(�����
�����$�01�B0110C�=;:<-$��
�
[0;]��6$����������&$�@����,��@$�5�:�
����/������������
����������������
����3�
����
���
��

���G�B���H���*��C���������

�����
��������������
�����
���
����������
����H�
��������
J��4�
��������?���	��-8�B0111C�-0-:-;1$����������



F�
�9)8"
�)�1'"�
)$* 2;' 1"
+)
2)26��$�
1"$
�)1 �19!�1 .$
?���
!�
,#$'), ,
+)
(,')�),


� 0.N

[0=]� � � $� ������
�� �$�$� @��
��3�
���� �
�������� ���*����,� ��� �
� ��������� �����@�����
��
�������3�����3��
���
���
�����	
�����������������������
��������
����J��*����������

(;�0
%�������00�B011;C�0-:0.$�

[0<]� ��$�6�������$A$�@���o#���A$J$4$\$�5H����$5$�A����3�����&$%$�@��

��H���I���
��:
G����� ��������
� ���������
��� ��� �����#���
�:*����� ��
��� ��	
����� ����
� 23��$�
.B011<C�8;:>1$�

O0NQ� � 9$� 9
�
�� A$� � @���� 9$� � A

�� 2��������
� ��� ������:�����,#��� �
�
�������������
�������������
����BqC:��
�3����
���
�����	
�����
������
��������
����?��	��7����>.�
B011NC�;0=:;;1$�

�
O0.Q� � A$($�A�3e�����J$�\���#�H�� �$�S �������3������$�\������/
#,��������,���� �
� ��
���

��	
���7� ������� �����,#��� H�
����� �����
���
� ��� -:�3�
,���3�
��� G��3� ���������
�
�
�������������,���7���������
��<�B011-C�=0<:=0N$�

�
[08]� �� $�������6$�����#����������$�$�@������������$� ����
���:&��
+��
��&$� A�
�3�#��������������

�$���#�
��� ��$�4�
��������$�6�����5�
�G�G�,������
�
����
#,�������,
�3����� �
�
�
� ������� ���*��
�� 
��
�� ��
��� ��	
���� ��� �����,��� �
������� ������� ,�	��� -1=�
B011<C�;-;:;-.$�

�
�
�
�
�



F�
�9)8"
�)�1'"�
)$* 2;' 1"
+)
2)26��$�
1"$
�)1 �19!�1 .$
?���
!�
,#$'), ,
+)
(,')�),


 

3�


�"$1!9, "$),

�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



�

� 0==

�
�
�
�
�
�
�
�

�

�



3��
�"$1!9, "$),


� 0..

3��
������������
�����	���



�
������	
������ 
����������� D����������*�
���
�����������,�������
�������������*��
���
3�
� ����� 
����#����� ���������������
��� ����� ��� ����������� ��� 

����� *�����������
������
�������
�����������*��
��$�

�
�
:�2�
������� 
�����������������������	�����
�������������������������� 
��
����������
*����������������*������������������
��
����������7�
�
�

-$� ������ ���� ��������
���� ���������� �� ���� ��	
����� � 
����� ������ ����� ���
�	
���*���� 
���
����
���
�����
��������J�(2I;���J�02I;��,���������� 
����


�� ��
������ ����������� ��� 

�� *���� ���)
���� 
�� ���������� ���� ����� ���
����������
����������#������������� 
��3�
����
����������
�����������
��
����
���������
����������������������������@������
	�	���
����������
��������
������
���
������������� 
���

�
0$� � A�� 3�� �*��
���� 

� 

���� ��������� �
#��)����� ��� ��� ������� @� �����
	�	��

�
��������� �����
��� ������� 
� ,� �
�����
#����
��� ������
��� ��� ��� �
#����
��*��� 

� �������� ��� �����������
�� B25�@:��C� 	
�� ��
���
�� �
� ����������
����������� �
� ��	
����� � 
����� 	
�� ���������
� ��� �
#���� ��*���� ��������
���
������#��� ��� ������ �������������� ��� ������� 
� ��� ���:-:��
�����
��� ,� ����������������������
���:-:��
���������
�� �
� [*���P][JI;:]� ,� [*���P][���:]� ��
� ������
�
�
�����������������$�

�
;$� � ������ ��	
������ � 
������3�
� ��������������� ������������������ 
�����
�����
���������
#������
�����
�����������$�/�����
#����3���D3�*����

������*�������
�)�� ����� �
� ���� ��	
����� � 
����� ���
������� 	
�� �
� �������
���� ���)
�����
��
��
���
����������0:�����
��$�5���)������3���*��������

��
��
����
�
�������*����������������
#�����
������
������� �����
����������������� 
������
������	
������ 
�����*��������
��
��
����������
���*������,�3�D���
���*�����$�

�
�
:�2�
������
������
����#��� 
�������������	�����
�����������������	
�����
�������
���

�����	��� ��
����	���� ��� 3�� ������*���� 	
�� ���3��� ���*��
��� �
�����
� 

�
�����������
��� ����
���� ����� �
� ������� �
� ��������� �
��������� ���
������ 
?�������� 
�� ������������
��� �
� ��� �����
�� 
� ���'����� ��� ���:-:��
�����
��� ,�
���:0:��
��
��� � ������#���� ���� ��� ������� @� �����
	�	�� �
���������� A�� 3�� ��
���
����
�������� �
� ��� ����� ���������� ��� �� ����� BAC:����3��� ���� �� ����� B6C:� ����3���� ��� �
���
�����
��� ��
��������������
���� 
��
����������'����$������
)������������������*��������
������������
���
��D�������������
��
������
��
���
��7�



3��
�"$1!9, "$),


� 0.8

�
�

-$��������*��
����	
��������������*�������
������	
����� 
����O*���PQO@%=
kQ�3��

���
��������������)������
�������������������� 
����������������������
������
	
���
������
�
��
����������
���
�����
'�����$�

�
0$� �A��3���*��������

��
��
����
����������
������������������
�����
�����
���
��� ��� ��
��
����� 
� ��� ��� �
#����� ��
���� ���� �
�������� �D������
����
���
�����$��

�
;$���A���3���������*�����	
���������
��
������
����
�������

�����)������������	
��

�������
�����������
���������������$�
�
=$� � ��� ��,��� ������
���� �
� ��� �������� �
�������� ��� ������ 
?�������� 
� ��� 3���
�������� 
����#�
��� ����� ������ ��� ������� �
� ���� �������
��� ���
���
������������� 
�����'�������
�����������,�����
���
���������
�$�

�
�
:�A��3���������������

�

����*����������*�������
�������*�
��� 
���������	�����
������

	��8�	��	�������
����
���������������
�������	��������
�������������
���������'�������
��	
������$��
�

-$� ��� �
������#��� 
� ��� ��� ������� @� ��� ��
	�	�� �
��������� B2��@C� �
� 

��
���*��
����
�'��������������������^:��
��
��3����������������*��
�� 
����


�� ���*��
�� ������� ����#� ��� ������#��� ���������������
��� ��� ��
������ ���
������
�������*
�����������������������
���������
����,�-:*
��
����
����������
*��)������ ��	
���� � 
���?�� D���� ������*�
�� �
����������� �� <1�R2� ,� 81�*��$�����������
/
���������������������������������������������
����,���	
������*��
������
�
�� D����������*�
�� �
������������������������� ������ 
$����� ��� ��
���� ����
��	
����� � 
����� ���F�
� �
� ���� ��������� *��)������ ���������
�
��� 

�
�������*��
�������
��������� ��������������������������� ��� ��
#�������
�����
���
�������� D����������*�
���
�������������������

��������3��������*������
�)���� ���
������ 
� ��� ���� ����
����� ��
� ��
����
��� 
� ���� �D������� ���� ���
��	
����� 
���$��

�
0$���A����3����������*�����	
�������������
�����������������������������@������
	�	��

�
��������� �
� ���� ��������� *��)������ ��	
���� � 
���?� �� D���� ��� ���*�
��
�
����������� ����
��� ��� ��� �������������� ��� ���� �
��������
��� ����*��������
�
����������	
������ 
�����,�����
#����,����������
 ��
���������
�����
�������
���������
���������������
�����*�������	
����� 
����,���
�����
����������$���

�
�
�



3��
�"$1!9, "$),


� 0.>

���� ���
������� �*��
����� �
� ��� �����
��� ������ �
�
��
� 

� �
����� ����
����� ����� ���
�������� 
� ��� ���� ��	
����� � 
������ ���� ��
����� �
������������ ,� ��� ���
������� ���
���*��
��� �� ��������� ��� ������ 
� ,?�� �������� 
� �
�
��������� �
� ��� ������ ��� ���
	
������ ��
�� ,� ������'
������ ��
� �������
���� *�
�������� �������*��
������ ,�
��������
 �����$�
�
�
�
�
�
�
�
�
� �
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



33�
�)�,?)1' 8�,
>9'9��,

�
�

� 0..

�
�
�

�



�

�

 

33


�)�,?)1' 8�,
>9'9��,

�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



�

� 0==

�
�
�
�
�
�

�



33�
�)�,?)1' 8�,
>9'9��,

�
�

� 08;

33�
����������	�

����	�

�
�
���� ���
������� �����
������ �
� ����� ������ 
�� � ��� ��
���*
,�
� �� ��� �
����
�� 
� ��� ����
�������
�������)
�������
��
���
�������
������������������
���'����
������������������
���	�;� ���!�
��
���������
�	��
�������"$�/�������
��� ���*�+�����
��� ����*�������������E��
��� 

����� �'������ �
��
���������� ��� ����
��� 
� ��� ����
������ �
�
����'������
���
�
����� �� �
��	
������� �
� 

�� ��� ���� �
�
�� ������� 
��
��� ���������� ��� ���*��
��
*������� �
� ��	
����� � 
����� �
� ���� �
����� ��� �
������ ��� ���� 
� ����������� ����
*��������#�����,������������ 
�����
��
����� 
������������
������
�

��F
����������� 
$


�
����� 	
�� ��� ����*��� ����E��� ��	
����� � 
����� ����� ����� �������� 
� ��
������� ��� ���
��������	
�� ����*�����������*��������
����
��������	
������ 
�������� D����������*�
��
�
����������� ,� ���
������� ��� ���*��
��� �������������� �
� ��� �����
��� ������ ���
�
������*������

��������
���
F�������������������
�
��������������������
����
�	
������
��
�� ,� ������'
����$� ���� ����� ������ ������ ������
��*��� �D��
���� ���� �
����������
���
�����#������
���������
���������������������
���������
���'���
�
������$�
�
2���� ������ ������� �� ��� �������� 
� �
�
������� ��� ���� ��	
����� � 
����� ������ 
���������
�������� ��� ��
������
��� ��� ��������� �������
����� ��
� �
� ����*��� ��������
�������*��
���� B����*������� �
� ��� �������� ��D�������� *���������*�������� ���$C$� A�����
����)�� �
������
��� ������������ ���������������� ��� ��������� ���� ������������ �������� ,�
	
����������������	
������ 
������
��

�� 
��������� 
�,������
� 
���
����
,�
���$�/����
3���������*�����������
��������	
����� 
�����)������
���������������������� 
������
���
���
����������������������*�+���D������
���������*��������$�
�
������*�
��� 
������	
������ 
����������� D����������*�
���
�����������,�������
�������
������*��
�� �
����������	
���������
��������� �������
����*�
�����������
 ������ �,�
�������*��
������ �
���������� 
���
� ���� �����������
��
���
����$���� ���
��� 
�����
��
�
��� ��� �������
���� ���)
����� ,� ��� ������#������� B�����
��� �
������#��� 
� �
�
���*��
��C�����������������

����������������������������������,����
���������
���������
�����
��� ��
������$� 5���)��� ���� ������� ��� �
������ ���������� �� ��� ����
��#��� 
� ����
�� D���� ��� ���*�
�� ����� ��
����� ���� ��������� *��)������ ��	
���� � 
���?�� D���� ���
���*�
���
����������������
��)��*�+���	
������������������������������ 
�����������
����
�
� ���� ��������� ��
��
���
����$� ���� ����� ������ ������ ��� �

��� ��� ������ ���
 ����� ,�
�������*��
���� ������ �����*��� ��� �)����� �������
���� 
� ��� ������ 

����� ��������$������������
A�
� ��*������ ��� ��� �������� 	
�� � ��� ���
� �����
������ �
�
��������
��� �	
������
���
�������� 	
�� ����#��
� ���
���� ��
��+��� ���
��� �� ���� ��
��
���
����
��� 
����#������
��*���� �

����
�����
��� �� ���� ������� ������� ��� ����� ��� ���� ���
����� ���
���� ���
����
��� 
�,����������������	
����������*���
����������������

����� 
$�
�



�

� 08;�



33�
�)�,?)1' 8�,
>9'9��,

�

 

3�


	$)B",�
�

�
�

� �
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



�

� 08=

�
�
�
�
�

�



3��
	$)B",


� 08.

	��G�
 3�� ����������
 
 �����	���
 
 ��
 
 ���
 
 ���
����
 ��

��������	��4�
 ��
 -����	��
 ��
 -�����
 5
 �����

-�������
 ��
 �	
 ��������
 ��
 -����	��
 ��
 -�����

�	�	���	�	
���
���	�	
-
��
������������������
��

��������
�4�����
	
:�
H�








��6!�
3��3$���
���
�����
�����������������������������
��
������
������*
����������*
�����,�)�����*
��������
�
������
���������*
����������*
������
���	
������ 
�������;1�R2�,�0Y�B�?�C������
��
�����
���
�$�
��



�







































































�)+ " 2
(,')�


































































B�����w��:-w���
:-C


2
;1 +"
























































B�����w��:-w���
:-C


O62 2PQO�
C
EQ�$'),
+)
?9� > 1��
 0$;8;� 1$0=<�

OI2 2PQO�
C
EQ�$'),
+)
?9� > 1��
 1$1-=� 1�

O"2 2PQO�
C
EQ�$'),
+)
?9� > 1��
 1� 1�

O62 2PQO�
C
EQ+),?9(,
+)
?9� > 1��
 0$8=1� 1$0>1�

OI2 2PQO�
C
EQ+),?9(,
+)
?9� > 1��
 >$.>0� -$N-N�

O"2 2PQO�
C
EQ+),?9(,
+)
?9� > 1��
 ->$.;0� ;$1.1�

O)2 2PQO��>�
EQ
 0$101� 1$;;0�

O62 2PQO��>�
EQ
 N$11<� -$<.;�

OI2 2PQO��>�
EQ
 8$.;N� -$80>�

O"2 2PQO��>�
EQ
 -0$;.1� 0$<=0�

$EI)B�$"
 -$0>;� 1$=0=�



3��
	$)B",


� 088

��6!�
3���$���
���
�����
�����������������������������
��
������
������*
����������*
�����,�)�����*
��������
�
������
���������*
����������*
������
������	
����� 
����O*���PQO�%N

:Q������������������
������������
������
;1�R2�,�0Y�B�?�C������
��
�����
���
�$�
�



�




















��6!�
3��:$���
���
�����
�����������������������������
��
������
������*
����������*
�����,�)�����*
��������
�
� ��� ��
���������*
����������*
������
� ��	
����� � 
�������;1�R2�,�0Y�B�?�C������
��
�����
���
�� ����� ���
����� 
����

����
������������������������������
�$�
�



�

























�

�

�

�

�

�

�

�

�

�

�

�

�

�)+ " 2
(,')�


































































B�����w��:-w���
:-C


2
;1 +"












































B�����w��:-w���
:-C


O62 2PQO�
C
EQ�����:
 --$=1.� -$<11�

O62 2PQO�
C
EQ
�����:
 0;$;1-� 0$=;-�

O62 2PQO�
C
EQ�':�
 0=$N01� 1$NN=�

�)+ " 2
(,')�


































































B����w��:-w���
:-C


2
;1 +"
























































B����w��:-w���
:-C


OI2 2PQO�
C
EQ�':�
 ;0$0<N� 0$=10�

O"2 2PQO�
C
EQ�':�
 ;<$;.;� ;$=N.�

O)2 2PQO��>�
EQ�':�
 0=$<1N� -$=1;�

O62 2PQO��>�
EQ�':�
 ;1$.<.� -$-0<�

OI2 2PQO��>�
EQ�':�
 0;$<;.� 0$1>8�

O"2 2PQO��>�
EQ�':�
 ;;$>=-� =$>01�



3��
	$)B",


� 08>

	��G�
��� � �����������
 
 
 
�����	���
 
 
 
 
��
 
 
 
 
���
 
 
 
 
���
����
 
 
 
��

��������	��4�
 ���
 �����
 
����	������
 ��
 �	

��	���4�
��
����4�����
��
���������	
�
�	�	���	�	

���
 ���������	
 �
 	���	�	
 ��
 !9�:!���:��� �-.�
 ��


��������
�4�����
	
=�
H�
�

�
�
�
	M
���
�����	��



��6!�
 3��=$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O*���PQO�%N

:Q$��
�



�

































































Tiempo de 
incubación  

(min) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

��
 1$>><�

=�
 1$81<�

C�
 1$N.=�

��
 1$N0-�

3��
 1$=<1�

:C�
 1$;>-�

3==�
 1$;0N�



3��
	$)B",


� 0>1

��6!�
 3��@$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O����PQO�%N

:Q$��
�




�






































��6!�
 3��C$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O����PQOJ��0

:Q$�
�




�







































Tiempo de 
incubación  

(min) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

=�
 1$>.1�

��
 1$8-N�

3��
 1$.1;�

3@�
 1$N;0�

3��
 1$<>=�

@��
 1$;.1�

3==�
 1$;;0�

Tiempo de 
incubación  

(min) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

=3
 1$>88�

�@
 1$8>.�

3��
 1$800�

:��
 1$.NN�

=C@
 1$.;8�

F��
 1$N8;�

3:��
 1$N;8�

3@D�
 1$N1;�

3���
 1$<N0�



3��
	$)B",


� 0>-

��6!�
 3��D$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O*���PQOJ��0

:Q$��
�



�
































��6!�
 3���$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O*���PQO@%=

:Q$��
�



�













































Tiempo de 
incubación  

(min) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

=�
 1$><N�

��
 1$8<8�

3@�
 1$.>N�

�@�
 1$.11�

3==�
 1$<N0�

Tiempo de 
incubación  

(min)) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

��
 1$<>8�

=�
 1$=>8�

C�
 1$=;;�

��
 1$;80�

3��
 1$;1-�

=��
 1$->>�

3==�
 1$-1;�



3��
	$)B",


� 0>0

��6!�
 3��F$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
����3��� �����������
�����
������=1�R2���������
����������������
�
*��� 
��
�0:�����
��$��
�



�

















































































Tiempo de 
incubación  

(min) 

2
�		




















































B�����w��:-w���
:-C


�
 -$0==�

3
 1$=N.�

�
 1$0<0�

@
 1$--8�

3�
 1$--0�

3@
 1$1>>�



3��
	$)B",


� 0>;

-M
���
�����	��



��6!�
 3��3�$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O*���PQO�%N

:Q��
������
��������
������$��
�



�






































��6!�
 3��33$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O����PQO�%N

:Q��
������
��������
������$�
�



�

































Tiempo de 
incubación  

(min) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

��
 -$1>>�

=@
 -$10;�

3@�
 1$8N>�

:��
 1$.=-�

=@�
 1$NN;�

�=�
 1$<8=�

3==�
 1$=;.�

Tiempo de 
incubación  

(min) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

=�
 1$>.1�

��
 1$8-N�

3��
 1$.1;�

3@�
 1$N;0�

3��
 1$<>=�

@��
 1$;.1�

3==�
 1$;;0�



3��
	$)B",


� 0>=

��6!�
 3��3�$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O����PQOJ��0

:Q��
������
��������
������$��
�



�












































��6!�
 3��3:$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O*���PQOJ��0

:Q��
������
��������
������$���
�



�

































Tiempo de 
incubación  

(min) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

��
 1$8;N�

=�
 1$N-1�

C�
 1$<<-�

3��
 1$;<8�

3��
 1$0.=�

�=�
 1$0-1�

=CD
 1$-N>�

3D�@
 1$1=8�

Tiempo de 
incubación  

(min) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

=@
 -$1-.�

D@
 1$.N>�

3@�
 1$=<<�

:��
 1$0;1�

=@�
 1$-=1�

C�D
 1$-11�

3==�
 1$1=<�



3��
	$)B",


� 0><

��6!�
 3��3=$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
����� 
� ���� )����� ��
����'����� B�55C� �
� ���
������ 
� ��� 3��� ������ ��� ��
�����
���� �� =1�R2�� �� �����
���� �������� ��� �
�
*��� 
� �
� ��� ��	
���� � 
����
O*���PQO@%=

:Q��
������
��������
������$���
�



�





































































Tiempo de 
incubación  

(min) 

2
�		































































B�����w��:-w���
:-C


�
 -$0==�

��
 1$818�

C�
 1$N<<�

3��
 1$<N=�

3��
 1$=88�

3==�
 1$;01�



�



3��
	$)B",


� 0>.



	��G�
 :�� � � ���������	��4�
 
 
 ��
 
 
 �	
 
 ����	���	��4�
 ��
 �	






















3J
 
 
��5
 
 
��
 
 
��S
 
 
�	�	
 
 
 ��
 
 
 
�������
 
 
��
 
 
�	�

�����	-����	���
 
��
 
���
 
 ����������
 
	
��	���

��
���-�	�	�
������	�
������	�	A�




	M
 ������	
���E3E
������	���




R2 = 0.9999

-1.4

-1

-0.6

-0.2

0 300 600 900 1200 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]




 09��
33�3��2)��
���������������*������������������
���������
����

�
�������*��
��J,��
��
�O*���PQOJ��0
:Q$�

R2 = 0.9968

-1.2

-1

-0.8

-0.6

-0.4

-0.2

0

0 100 200 300 400
Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]




 09��
3�����2)��
���������������*�������������

B6C:-:��
�����
����
�������*��
��J,��
���
�O*���PQOJ��0
:Q$�

R2 = 0.9968

-1.2

-1

-0.8

-0.6

-0.4

-0.2

0

0 100 200 300 400
Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��:��2)��
���������������*������������BAC:-:��
�����
����
����

���*��
��J,��
���
�O*���PQOJ��0
:Q$�



3��
	$)B",


� 0>8

R2 = 0.9987

-1

-0.8

-0.6

-0.4

-0.2

0

0 300 600 900 1200 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��=��2)��
���������������*�������������

������
�������B6C:-:��
���������
�������*��
��J,��
���
�
O*���PQOJ��0

:Q$�
�

�

R2 = 0.9982

-0.9

-0.7

-0.5

-0.3

-0.1

0 300 600 900 1200 1500
Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��@��2)��
���������������*�������������

������
�������BAC:-:��
���������
�������*��
��J,��
���
�
O*���PQOJ��0

:Q$�





R2 = 0.9999

-2

-1.6

-1.2

-0.8

-0.4

0

0 300 600 900 1200 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��C�
2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O*���PQOJ��0
:Q$�






3��
	$)B",


� 0>>

R2 = 0.9965

-3

-2

-1

0

0 300 600 900 1200 1500 1800

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]




 09��
3��D��2)��
���������������*������������������
���������
����

�
�������*��
��J,��
���
�O����PQOJ��0
:Q$�






R2 = 0.9980

-1.2

-0.8

-0.4

0

0 100 200 300 400 500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]




 09��
3�����2)��
���������������*�������������

B6C:-:��
�����
����
�������*��
��J,��
���
�O����PQOJ��0
:Q$�






R2 = 0.9983

-1.2

-0.8

-0.4

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��F��2)��
���������������*�������������

BAC:-:��
�����
����
�������*��
��J,��
���
�O����PQOJ��0
:Q$�

�



3��
	$)B",


� ;11

R2 = 0.9956

-3.5

-2.5

-1.5

-0.5

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��3���2)��
���������������*�������������

������
�������B6C:-:��
���������
�������*��
��J,��
���
�
O����PQOJ��0

:Q$






R2 = 0.9963

-2,5

-1,5

-0,5

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��33��2)��
���������������*�������������

������
�������BAC:-:��
���������
�������*��
��J,��
���
�
O����PQOJ��0

:Q$�





R2 = 0,9966

-0,7
-0,6
-0,5
-0,4
-0,3
-0,2
-0,1

0

0 200 400 600

Tiempo(min)

LN
[(

C
o

-2
C

r)
/C

o
]

�

 09��
3��3���2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O����PQOJ��0
:Q$�






3��
	$)B",


� ;1-

R2 = 0.9982

-0.8

-0.6

-0.4

-0.2

0

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��3:��2)��
���������������*������������������
���������
����

�
�������*��
��J,��
���
�O*���PQO�%N
:Q$�

�
�

R2 = 0.9921

-2.5

-2

-1.5

-1

-0.5

0

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��3=��2)��
���������������*�������������

B6C:-:��
�����
����
�������*��
��J,��
���
�O*���PQO�%N
:Q$�

�



R2 = 0.9920

-2.5

-2

-1.5

-1

-0.5

0

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��3@��2)��
���������������*�������������

BAC:-:��
�����
����
�������*��
��J,��
���
�O*���PQO�%N
:Q$�

�



3��
	$)B",


� ;10

R2 = 0.9922

-0.4

-0.3

-0.2

-0.1

0

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��3C��2)��
���������������*�������������

������
�������B6C:-:��
���������
�������*��
��J,��
���
�
O*���PQO�%N

:Q$�





R2 = 0.9941

-0.4

-0.3

-0.2

-0.1

0

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��3D��2)��
���������������*�������������

������
�������BAC:-:��
���������
�������*��
��J,��
���
�
O*���PQO�%N

:Q$�





R2 = 0.9976

-1.2

-0.9

-0.6

-0.3

0

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��3���2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O*���PQO�%N
:Q$




3��
	$)B",


� ;1;

R2 = 0.9965

-1.4

-1

-0.6

-0.2

0 300 600 900 1200

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��3F��2)��
���������������*�������������

������
���������
�����
�������*��
��J,��
���
�O����PQO�%N
:Q$�

�




R2 = 0.9959

-2

-1.6

-1.2

-0.8

-0.4

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]




 09��
3������2)��
���������������*������������

B6C:-:��
�����
����
�������*��
��J,��
���
�O����PQO�%N
:Q$







R2 = 0.9957

-2

-1.6

-1.2

-0.8

-0.4

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3���3��2)��
���������������*�������������

BAC:-:��
�����
����
�������*��
��J,��
���
�O����PQO�%N
:Q$









3��
	$)B",


� ;1=

R2 = 0.9957

-0.6

-0.4

-0.2

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3������2)��
���������������*�������������

������
�������B6C:-:��
���������
�������*��
��J,��
���
�
O����PQO�%N

:Q$�
�

�

R2 = 0.9962

-0.6

-0.4

-0.2

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3���:��2)��
���������������*�������������

������
�������BAC:-:��
���������
�������*��
��J,��
���
�
O����PQO�%N

:Q$�





R2 = 0.9992

-1.2

-0.8

-0.4

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3���=��2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O����PQO�%N
:Q$�








3��
	$)B",


� ;1<

R2 = 0.9908

-0.8

-0.6

-0.4

-0.2

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3���@��2)��
���������������*�������������

������
���������
�����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�



R2 = 0.9975

-1.2

-0.8

-0.4

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3���C���2)��
���������������*������������

B6C:-:��
�����
����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�






R2 = 0.9979

-1.2

-0.8

-0.4

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3���D��2)��
���������������*������������

BAC:-:��
�����
����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�

�



3��
	$)B",


� ;1N

R2 = 0.9947

-0.45

-0.35

-0.25

-0.15

-0.05

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3������2)��
���������������*�������������

������
�������B6C:-:��
���������
�������*��
��J,��
���
�
O*���PQO@%=

:Q$�





R2 = 0.9971

-0.4

-0.3

-0.2

-0.1

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3���F��2)��
���������������*�������������

������
�������BAC:-:��
���������
�������*��
��J,��
���
�
O*���PQO@%=

:Q$�





R2 = 0.9968

-0.9

-0.7

-0.5

-0.3

-0.1

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]




 09��
3��:���2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�
�



3��
	$)B",


� ;1.

R2 = 0.9994

-1.6

-1.2

-0.8

-0.4

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��:3��2)��
���������������*�������������

������
���������
�����
�������*��
��J,��
���
�O����PQO@%=
:Q$�

�
�

R2 = 0.9895

-1.2

-0.9

-0.6

-0.3

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��:���2)��
���������������*������������

B6C:-:��
�����
����
�������*��
��J,��
���
�O����PQO@%=
:Q$�

�
�

R2 = 0.9898

-1.2

-0.8

-0.4

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��::��2)��
���������������*������������

BAC:-:��
�����
����
�������*��
��J,��
���
�O����PQO@%=
:Q$�






3��
	$)B",


� ;18

R2 = 0.9981

-1.6

-1.2

-0.8

-0.4

0

0 1000 2000

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��:=��2)��
���������������*�������������

������
�������B6C:-:��
���������
�������*��
��J,��
���
�
O����PQO@%=

:Q$�





R2 = 0.9981

-1.6

-1.2

-0.8

-0.4

0

0 1000 2000

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��:@��2)��
���������������*�������������

������
�������BAC:-:��
���������
�������*��
��J,��
���
�
O����PQO@%=

:Q$�
�
�

R2 = 0.9962

-0.8

-0.6

-0.4

-0.2

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�������������������������

 09��
3��:C��2)��
���������������*������������

)���������� 
�����
�������*��
��J,��
���
�O����PQO@%=
:Q$�








3��
	$)B",


� ;1>

R2 = 0.9983

-0.4

-0.3

-0.2

-0.1

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��:D��2)��
���������������*�������������

*
������������
�����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�
�

R2 = 0.9964

-1

-0.8

-0.6

-0.4

-0.2

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��:���2)��
���������������*������������

B6C:-:��
�����
����
�������*��
��J,��
���
�O*���PQO@%=
:Q��������

�
������
�� 
����'�������
�*
������������
���$�
�
�

R2 = 0.9967

-1

-0.8

-0.6

-0.4

-0.2

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��:F��2)��
���������������*������������

B6C:-:��
�����
����
�������*��
��J,��
���
�O*���PQO@%=
:Q�������
�

�����
�� 
����'�������
�*
������������
���$�
�



3��
	$)B",


� ;-1

�������������������������

R2 = 0.9991

-0.16

-0.12

-0.08

-0.04

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��=���2)��
���������������*�������������

��������������������������*
����������B6C:-:��
���������
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�



R2 = 0.9988

-0.16

-0.12

-0.08

-0.04

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��=3��2)��
���������������*�������������

*
����������BAC:-:��
���������
�������*��
��J,��
���
��
O*���PQO@%=

:Q$�





R2 = 0.9970

-1,8

-1,4

-1

-0,6

-0,2

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��=���2)��
���������������*������������

)�����*
��������
�������*��
��J,��
���
�O*���PQO@%=
:Q$�








3��
	$)B",


� ;--

R2 = 0.9849

-0.005

-0.004

-0.003

-0.002

-0.001

0

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��=:��2)��
���������������*�������������

��
����������
�����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�




R2 = 0,9987

-0.6

-0.5

-0.4

-0.3

-0.2

-0.1

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��==��2)��
���������������*������������

B6C:-:��
�����
����
�������*��
��J,��
���
�O*���PQO@%=
:Q��������

�
������
�� 
����'�������
���
����������
���$�
�
�

R2 = 0.9987

-0.6

-0.5

-0.4

-0.3

-0.2

-0.1

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��=@��2)��
���������������*������������

BAC:-:��
�����
����
�������*��
��J,��
���
�O*���PQO@%=
:Q��������

�
������
�� 
����'�������
���
����������
���$�







3��
	$)B",


� ;-0

R2 = 0.9941

-0.0045

-0.0035

-0.0025

-0.0015

-0.0005

0 1000 2000 3000 4000
Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��=C�
2)��
���������������*�������������

��
�����������:��
���������
�������*��
��J,��
���
�O*���PQO@%=
:Q$�






R2 = 0.9843

-0.005

-0.004

-0.003

-0.002

-0.001

0

0 1000 2000 3000

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��=D�
2)��
���������������*������������

)�������F������
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

�
�



3��
	$)B",


� ;-;

-M
������	
���E�E����	����
�

R2 = 0,9998

-1.4

-1.1

-0.8

-0.5

-0.2

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]




 09��
3��=���2)��
���������������*������������������
���������
����

�
�������*��
��J,��
���
�O*���PQOJ��0
:Q$�

�

�����������������������������������

R2 = 0.9991

-1,4

-1,1

-0,8

-0,5

-0,2

0 500 1000 1500

Tiempo( min)

�




 09��
3��=F��2)��
���������������*�������������
B6C:0:��
��
����
�������*��
��J,��
���
�O*���PQOJ��0

:Q$�
�
�

R2 = 0.9997

-1,4

-1,1

-0,8

-0,5

-0,2

0 500 1000 1500

Tiempo(min)

LN
[(

C
o

-2
C

r)
/C

o
]

�

 09��
3��@���2)��
���������������*�������������

BAC:�0:��
��
����
�������*��
��J,��
���
�O*���PQOJ��0
:Q$




3��
	$)B",


� ;-=

R2 = 0,9993

-0,16

-0,12

-0,08

-0,04

0

0 500 1000 1500

Tiempo(min)

L
N

[(
C

o
-2

C
r)

/C
o]

�

 09��
3��@3��2)��
���������������*�������������

������
�������B6C:0:��
������
�������*��
��J,��
���
�
O*���PQOJ��0

:Q$�
�

�

R2 = 0,9994

-0,16

-0,12

-0,08

-0,04

0

0 500 1000 1500

Tiempo(min)

L
N

[(
C

o
-2

C
r)

/C
o]

�

 09��
3��@���2)��
���������������*�������������

������
�������BAC:0:��
������
�������*��
��J,��
���
�
O*���PQOJ��0

:Q$�





R2 = 0.9996

-1.4

-1.1

-0.8

-0.5

-0.2

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��@:�
2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O*���PQOJ��0
:Q$�






3��
	$)B",


� ;-<

R2 = 0.9981

-2

-1.5

-1

-0.5

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��@=��2)��
���������������*������������������
���������
����

�
�������*��
��J,��
���
�O����PQOJ��0
:Q$�






R2 = 0.9986

-2.5

-2

-1.5

-1

-0.5

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��@@��2)��
���������������*�������������

B6C:0:��
��
����
�������*��
��J,��
���
�O����PQOJ��0
:Q$�






R2 = 0.9997

-2.5

-2

-1.5

-1

-0.5

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��@C��2)��
���������������*�������������

BAC:0:��
��
����
�������*��
��J,��
���
�O����PQOJ��0
:Q$�

�



3��
	$)B",


� ;-N

R2 = 0.9995

-0.7

-0.5

-0.3

-0.1

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��@D��2)��
���������������*�������������

������
�������B6C:0:��
������
�������*��
��J,��
���
�
O����PQOJ��0

:Q$






R2 = 0.9996

-0.7

-0.5

-0.3

-0.1

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��@���2)��
���������������*�������������

������
�������BAC:0:��
������
�������*��
��J,��
���
�
O����PQOJ��0

:Q$�





R2 = 0.9994

-1,6

-1,2

-0,8

-0,4

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��@F��2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O����PQOJ��0
:Q$�






3��
	$)B",


� ;-.

R2 = 0.9968

-0.8

-0.6

-0.4

-0.2

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��C���2)��
���������������*������������������
���������
����

�
�������*��
��J,��
���
�O*���PQO�%N
:Q$�

�
�

R2 = 0.9976

-0.9

-0.7

-0.5

-0.3

-0.1

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��C3��2)��
���������������*�������������

B6C:0:��
��
����
�������*��
��J,��
���
�O*���PQO�%N
:Q$�

�



R2 = 0.9977

-0.9

-0.7

-0.5

-0.3

-0.1

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��C���2)��
���������������*�������������

BAC:0:��
��
����
�������*��
��J,��
���
�O*���PQO�%N
:Q$�

�



3��
	$)B",


� ;-8

R2 = 0.9941

-0.016

-0.012

-0.008

-0.004

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��C:��2)��
���������������*�������������

������
�������B6C:0:��
������
�������*��
��J,��
���
�
O*���PQO�%N

:Q$�





R2 = 0.9968

-0.016

-0.012

-0.008

-0.004

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��C=��2)��
���������������*�������������

������
�������BAC:-:��
�����
�����
�������*��
��J,��
���
�
O*���PQO�%N

:Q$�





R2 = 0.9982

-1.4

-1

-0.6

-0.2

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��C@��2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O*���PQO�%N
:Q$�






3��
	$)B",


� ;->

R2 = 0.9998

-0.7

-0.5

-0.3

-0.1

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��CC��2)��
���������������*�������������

������
���������
�����
�������*��
��J,��
���
�O����PQO�%N
:Q$�

�

�

R2 = 0,9987

-0,7

-0,5

-0,3

-0,1

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]




 09��
3��CD��2)��
���������������*������������

B6C:0:��
��
����
�������*��
��J,��
���
�O����PQO�%N
:Q$







R2 = 0,9982

-0,7

-0,5

-0,3

-0,1

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��C���2)��
���������������*�������������

BAC:0:��
��
����
�������*��
��J,��
���
�O����PQO�%N
:Q$






�

�

�



3��
	$)B",


� ;01

R2 = 0,9962

-0,06

-0,04

-0,02

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��CF��2)��
���������������*�������������

������
�������B6C:0:��
������
�������*��
��J,��
���
�
O����PQO�%N

:Q$�
�
�

R2 = 0,9944

-0,06

-0,04

-0,02

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��D���2)��
���������������*�������������

������
�������BAC:0:��
������
�������*��
��J,��
���
�
O����PQO�%N

:Q$�





R2 = 0,9999

-0,8

-0,6

-0,4

-0,2

0

0 500 1000 1500 2000 2500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��D3��2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O����PQO�%N
:Q$�

�
�





3��
	$)B",


� ;0-

R2 = 0.9989

-0,6

-0,4

-0,2

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��D���2)��
���������������*�������������

������
���������
�����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�



R2 = 0.9992

-0,8

-0,6

-0,4

-0,2

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��D:���2)��
���������������*������������

B6C:0:��
��
����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�






R2 = 0.9993

-1

-0,8

-0,6

-0,4

-0,2

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��D=��2)��
���������������*������������

BAC:0:��
��
����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�

�



3��
	$)B",


� ;00

R2 = 0,9962

-0,012

-0,009

-0,006

-0,003

0

0 500 1000 1500

Tiempo(min)

L
N

[(
C

o
-2

C
r)

/C
o

]

�

 09��
3��D@��2)��
���������������*�������������

������
�������B6C:0:��
������
�������*��
��J,��
���
�
O*���PQO@%=

:Q$�

R2 = 0,9851

-0,012

-0,009

-0,006

-0,003

0

0 500 1000 1500
T iempo ( min)

L
N

[(
C

o
-2

C
r)

/C
o

]




 09��
3��DC��2)��
���������������*�������������

������
�������BAC:-:��
���������
�������*��
��J,��
���
�
O*���PQO@%=

:Q$�





R2 = 0.9944

-1,2

-0,8

-0,4

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]




 09��
3��DD��2)��
���������������*�������������

)���������� 
�����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�
�



3��
	$)B",


� ;0;

R2 = 0.9990

-0,8

-0,6

-0,4

-0,2

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��D���2)��
���������������*�������������

������
���������
�����
�������*��
��J,��
���
�O����PQO@%=
:Q$�

�
�

R2 = 0.9975

-1,6

-1,2

-0,8

-0,4

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3��DF��2)��
���������������*������������

B6C:0:��
��
����
�������*��
��J,��
���
�O����PQO@%=
:Q$�

�
�

R2 = 0.9946

-1,6

-1,2

-0,8

-0,4

0

0 500 1000 1500
Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3������2)��
���������������*������������

BAC:0:��
��
����
�������*��
��J,��
���
�O����PQO@%=
:Q$�






3��
	$)B",


� ;0=

R2 = 0.9942

-0,03

-0,02

-0,01

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3���3��2)��
���������������*�������������

������
�������B6C:0:��
������
�������*��
��J,��
���
�
O����PQO@%=

:Q$�





R2 = 0.9853

-0,025

-0,015

-0,005

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3������2)��
���������������*�������������

������
�������BAC:0:��
������
�������*��
��J,��
���
�
O����PQO@%=

:Q$�
�
�

R2 = 0.9976

-0,6

-0,4

-0,2

0

0 100 200 300 400

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

����������������

 09��
3���:��2)��
���������������*������������

)���������� 
�����
�������*��
��J,��
���
�O����PQO@%=
:Q$�








3��
	$)B",


� ;0<

R2 = 0.9993

-0,3

-0,2

-0,1

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o-

2C
r)

/C
o]

�

 09��
3���=��2)��
���������������*�������������

*
������������
�����
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�
�

R2 = 0,9989

-1

-0,8

-0,6

-0,4

-0,2

0

0 500 1000 1500

Tiempo(min)

LN
[(

C
o

-2
C

r)
/C

o
]

�

 09��
3���@��2)��
���������������*������������

B6C:0:��
��
����
�������*��
��J,��
���
�O*���PQO@%=
:Q���������
�

�����
�� 
����'�������
�*
������������
���$�
�
�

R2 = 0,9997

-1

-0,8

-0,6

-0,4

-0,2

0

0 500 1000 1500

Tiempo(min)

L
N

[(
C

o-
2C

r)
/C

o]

�

 09��
3���C��2)��
���������������*������������

BAC:�0:��
��
����
�������*��
��J,��
���
�O*���PQO@%=
:Q�������
�

�����
�� 
����'�������
�*
������������
���$�
�



3��
	$)B",


� ;0N

�������������������������

R2 = 0,9956

-0,02

-0,015

-0,01

-0,005

0

0 500 1000 1500 2000

Tiempo(min)

L
N

[(
C

o
-2

C
r)

/C
o

]

�

 09��
3���D��2)��
���������������*�������������

��������������������������*
����������B6C:0:��
������
�������*��
��J,��
���
�O*���PQO@%=
:Q$�

�

�������������������������

R2 = 0,9744

-0,02

-0,015

-0,01

-0,005

0

0 500 1000 1500

Tiempo(min)

L
N

[(
C

o
-2

C
r)

/C
o

]

,



�


 09��
3������2)��
���������������*�������������
*
����������BAC:0:��
������
�������*��
��J,��
���
�O*���PQO@%=

:Q$�





R2 = 0,9990

-1

-0,8

-0,6

-0,4

-0,2

0

0 500 1000 1500

Tiempo(min)

L
N

[(
C

o
-2

C
r)

/C
o]

�

 09��
3���F��2)��
���������������*������������

)�����*
��������
�������*��
��J,��
���
�O*���PQO@%=
:Q��

$�



�
�
�



3��
	$)B",


� ;0.

	��G�
=�� � � �����������

 
 
 
�����	���

 
 
 
��

 
 
 
���

 
 
 
���
����

 
��

��������	��4�
��
�������
��
 L�ME3E
���������
5
��

������
�	�-�G������
��
�	
��������4�
�������	
��

���E3E
������	���
 �	�	���	�	
 ���
 ���	�	
 -
 ��

������������������
��
�E��G	��
	
:�
H�








��6!�
3��3@����
���
���� �
����������� ���� ���������� � ������
��
����� 
����'���������� B6C:-:��
��������,����
)���������*�D��������
���������
�� 
���
'�����������:-:��
�����
�����
������
����'���������
�������������#����
�����������@������
	�	���
����������
�
:3�D�
����;1�R2�,���������
������
��
������
���
�$�

































































�,')�
8 $#! 1"
 �"$')$ +"
)$

�09�
L??2M


2
(,')�


































































B�����w��:-w���
:-C


2
;1 +"
























































B�����w��:-w���
:-C


��"? "$�'"
+)
8 $ !"

@
 -$1;=� 1$1-1�

��"? "$�'"
+)
8 $ !"
 @�
 -$N-1� 1$-=1�

��"? "$�'"
+)
8 $ !"
 3�3
 -$>.=� 1$<<1�

��"? "$�'"
+)
8 $ !"
 3�C
 -$N-<� 1$<-1�

��"? "$�'"
+)
8 $ !"
 :@�
 -$;;;� -$1>-�

-9' ��'"
+)
8 $ !"

��
 -$=08� 1$-..�

-9' ��'"
+)
8 $ !"
 D@
 -$>01� 1$;<8�

-9' ��'"
+)
8 $ !"
 33�
 0$10-� 1$===�

-9' ��'"
+)
8 $ !"
 3=C
 -$>1-� 1$=8.�

-9' ��'"
+)
8 $ !"
 :DF
 -$<1<� -$<.0�

��9��'"
+)
8 $ !"

::
 -$=0;� 1$11-�

��9��'"
+)
8 $ !"
 C���
 -$N08� 1$10-�

��9��'"
+)
8 $ !"
 3�@
 -$.80� 1$-<<�

��9��'"
+)
8 $ !"
 3D�
 -$<=;� 1$0.0�

��9��'"
+)
8 $ !"
 :C�
 -$->.� 1$N=<�



�



3��
	$)B",


� ;0>



	��G�
 @�� � ����
����
 
 
 ��
 ��������	��4�
 ��
 ���
 �����	���
 5


���������
������	���
��
�	�
��������4�
�������	

��
���E3E
������	���
�	�	���	�	�
���
���	�	
-
��

�������� ����������
 ��
 ��
 �������
 ������	��
 ��

��	���4�A���	�	��4�







 09��
 3��F�$� /���
�� 
� ��� ��� ��
��
����� 
� ��
� ��� ������� ��� B6C:-:��
�����
���� BAC:-:��
�����
����
������
���������
�����������
�������B6C:-:��
���������������
�������BAC:-:��
���������,�)���������� 
�����
�
�������������
���� 
�,������������������������������������ 
?�������� 
�
��
���������*��
�����J,��
���
�
O*���PQO@%=

:Q� ���������� �
�
��� ��� �E������
� =1� ��� ��� �
#���� �
� ��� �����������
��� �����
���� 
�
B��
�����
��7���
��
����� 
��
��������������
���������-11���T���������
����;1�R2T���������-01�3$C$�
�
�



FASE ALIMENTACIÓN

C
on

ce
nt

ra
ci

ón
 (M

)

0.00

0.02

0.04

0.06

0.08

0.10

(R)- 1- feniletanol
(S)- 1- feniletanol
Propionato de vinilo
Propionato de (R)-1-feniletilo 
Propionato de (S)-1-feniletilo
Ácido propiónico

FASE RECEPTORA

tiempo (min)

0 1000 2000 3000 4000 5000

C
on

ce
nt

ra
ci

ón
 (M

)

0.00

0.02

0.04

0.06

0.08

0.10








3��
	$)B",


� ;;1


 09��
 3��F3$� /���
�� 
� ��� ��� ��
��
����� 
� ��
� ��� ������� ��� B6C:-:��
�����
���� BAC:-:��
�����
����
������
���������
�����������
�������B6C:-:��
���������������
�������BAC:-:��
���������,�)���������� 
�����
�
�������������
���� 
�,������������������������������������ 
?�������� 
�
��
���������*��
�����J,��
���
�
O*���PQO@%=

:Q� ���������� �
�
��� ��� �E������
� 81� ��� ��� �
#���� �
� ��� �����������
��� �����
���� 
�
B��
�����
��7���
��
����� 
��
��������������
���������-11���T���������
����;1�R2T���������-01�3$C$�
�
�



FASE ALIMENTACIÓN

C
on

ce
nt

ra
ci

ón
 (M

)

0.00

0.02

0.04

0.06

0.08

0.10

(R)- 1- feniletanol
(S)- 1- feniletanol
Propionato de vinilo
Propionato de (R)-1-feniletilo 
Propionato de (S)-1-feniletilo
Ácido propiónico

FASE RECEPTORA

tiempo (min)

0 1000 2000 3000 4000 5000

C
on

ce
nt

ra
ci

ón
 (M

)

0.00

0.02

0.04

0.06

0.08

0.10
























3��
	$)B",


� ;;-


 09��
 3��F�$� /���
�� 
� ��� ��� ��
��
����� 
� ��
� ��� ������� ��� B6C:-:��
�����
���� BAC:-:��
�����
����
*
������� ��� ��
����� *
������� ��� B6C:-:��
��������� *
������� ��� BAC:-:��
��������� ,� )����� *
������� �
� ��� �����
�����
���� 
� ,� ���������� ����� ��� �������� ��� ������ 
?�������� 
� 
��
��� ��� ���*��
�� ��� J,��
� ��
�
O*���PQO@%=

:Q� ���������� �
�
��� ��� �E������
� 81� ��� ��� �
#���� �
� ��� �����������
��� �����
���� 
�
B��
�����
��7���
��
����� 
��
��������������
���������-11���T���������
����;1�R2T���������-01�3$C$�
�
�



FASE ALIMENTACIÓN

C
on

ce
nt

ra
ci

ón
 (M

)

0.00

0.02

0.04

0.06

0.08

0.10

(R)- 1- feniletanol
(S)- 1- feniletanol
Butirato de vinilo
Butirato de (R)-1-feniletilo 
Butirato de (S)-1-feniletilo
Ácido butírico

FASE RECEPTORA

tiempo (min)

0 1000 2000 3000 4000 5000

C
on

ce
nt

ra
ci

ón
 (M

)

0.00

0.02

0.04

0.06

0.08

0.10




















�



3��
	$)B",


� ;;;



	��G�
C�� � �����������
 
 
 
 
�����	���
 
 
 
 
��
 
 
 
 
���
 
 
 
 
���
����
 
 
��


��������	��4�
 ��
 �������
 ��
 L�ME�E�������
 5
 ��

������
�	�-�G������
��
�	
��������4�
�������	
��

���E�E����	���
�	�	���	�	
���
���	�	
-
��
��������

����������
��
�E��G	��
	
:�
H�







��6!�
 3��3C�� ��
���
���� � � � � �
�������� � � � � ��� � � � � ���� � � � � ��������� � � ��� ��
��
����� 
� ��� '������� ���������������������������������
B6C:0:��
����� ,� ���)���������*�D������� �
� ��� �����
�� 
���
'����� ��� ���:0:��
��
�����
������
����'�������
��
�������������#���������������@������
	�	���
����������
�
:3�D�
����;1�R2�,���������
������
��
������
�
��
�$






























































�,')�
8 $#! 1"
 �"$')$ +"
)$

�09�
L??2M


2
(,')�































































B�����w��:-w���
:-C


2
;1 +"
























































B�����w��:-w���
:-C


��"? "$�'"
+)
8 $ !"

��
 0$=<=� 1�

��"? "$�'"
+)
8 $ !"
 3�D
 ;$0=0� 1$-N1�

��"? "$�'"
+)
8 $ !"
 3C:
 0$.-<� 1$;.1�

��"? "$�'"
+)
8 $ !"
 �:=
 -$><1� 1$0<1�

-9' ��'"
+)
8 $ !"

3:
 0$0<8� 1�

-9' ��'"
+)
8 $ !"
 D�
 ;$-18� 1$;08�

-9' ��'"
+)
8 $ !"
 ��=
 0$N1;� 1$N--�

-9' ��'"
+)
8 $ !"
 :�3
 0$<18� -$-->�



�


















3��
	$)B",


� ;;<



	��G�
D���������
����

��

��������	��4�


��


���


�����	���

5


���������
������	���
��
�	�
��������4�
�������	

��
 ���E�E����	���
 �	�	���	�	�
 ���
 ���	�	
 -
 ��

�������� ����������
 ��
 ��
 �������
 ������	��
 ��

��	���4�A���	�	��4�






�

 09��
3��F:��/���
�� 
���
��������������������
��
������
������B6C:0:��
��
����BAC:0:��
��
����*
�������
�����
�����*
����������BAC:0:��
������*
����������B6C:0:��
�����,�)�����)�����*
��������
��������������
���� 
�
,� ���������� ����� ��� �������� ��� ������ 
?�������� 
� 
��
��� ��� ���*��
�� ��� J,��
���
�O*���PQO@%=

:Q�
���������$� B��
�����
��7� ��
��
����� 
� �
������ ��� ���� �
��������� -11� ��T���
������ ��� �
#����� 81� ��T��
��������
����;1�R2T���������-01�3$C$�



FASE ALIMENTACIÓN

C
on

ce
nt

ra
ci

ón
 (M

)

0.00

0.02

0.04

0.06

0.08

0.10

(R)- 2- pentanol
(S)-2- pentanol
Butirato de vinilo
Butirato de (R)-2-pentilo 
Butirato de (S)-2-pentilo 
Ácido butírico

FASE RECEPTORA

tiempo (min)

0 1000 2000 3000 4000 5000 6000 7000

C
on

ce
nt

ra
ci

ón
 (M

)

0.00

0.02

0.04

0.06

0.08

0.10








�




































































3��
	$)B",


� ;;.



	��G�
��������������





�����	���





��





���





���
����



��


��������	��4�
 ��
 �������	��
 ��
 -�����
 5
 �����

�����4����
��
 
�	
��������
��
�������	��
��
-�����

�	�	���	�	
 ���
 ���	�	
 -
 ��
�������� ����������
 ��

��4G���
��
�	�-���
������������
	
��
-	�
5
@�
H�


�
�
�
��6!�
 3��3D$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
������
��� ������
���� ��� *
����� ,� )�����
����� 
���� �
� ��� ��
������ ��� ������
�������*
����� �
� �� D����������*�
�� �
����������� �� 81�*��� ,� <1�R2�
�*��
������������������*���
�������������������������������
���������
���$�
�
�
�
�


































Y�"$1)$'��1 .$
)B?�),�+�
)$
U 
+)
1"$1)$'��1 .$
�),?)1'"
�
!�
1"$1)$'��1 .$
 $ 1 �!
+)
?�"? "$�'"
+)
8 $ !"��




�
�
�
�
�
�
�
�




���











�-9��






























��B��C����������B��C�

2
(,')�


































































BY��@

fw���
:-C

2
;1 +"

































































BY�5�
fw���
:-C





3��














3��
 1$->>-� 1$11>=�




3�@














3�@
 1$-N.1� 1$11N0�




3@�
















D@
 1$00=<� 1$1-N-�




3@�














3��
 1$01--� 1$11>>�




3@�














3@�
 1$-<.<� 1$111-�




3@�














���
 1$-;11� 1$111-�




���














���
 1$-0NN� 1$11-1�



�



3��
	$)B",


� ;;>

�
�
	��G�
F�������������






�����	���






��







���






���
����



��


��������	��4�
 ��
 �������	��
 ��
 -�����
 5
 �����

�����4����
��
 
�	
��������
��
�������	��
��
-�����

�	�	���	�	
 ���
 ���	�	
 -
 ��
�������� ����������
 ��

��������
�4�����
	
@�
H�
�

�
�
�
��6!�
 3��3�$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
������
��� ������
���� ��� *
����� ,� )�����
����� 
�����
������
���������������
�������*
������
���	
������ 
�������<1�R2$�

























�
�
�
�
�
�






�

�
�
�
�
�
�
�
�

�)+ " 2
(,')�


































































B�����w��:-w���
:-C


2
;1 +"
























































B����w��:-w���
:-C


O62 2PQO�
C
EQ
 -$81N� 1$080�

O6+2 2PQO�
C
EQ
 0$0<N� 1$;.8�

O"2 2PQO�
C
EQ
 =$>N0� 0$-;N�

O62 2PQO��>�
EQ
 0$=<0� 1$<1>�

$EI)B�$"
 -$.<8� 1$;>=�



�



3��
	$)B",


� ;=-

�
	��G�
3���������������





�����	���





��





���





���
����



��


��������	��4�
 ��
 �������	��
 ��
 -�����
 5
 �����

�����4����
��

�	
��������
��
�������	��
��
-�����

�	�	���	�	
���
���	�	
-
��
������������������
��

������	�
 -�
������
 �������
 �4����A��4G���
 ��

�	�-���
������������
	
��
-	�
5
@�
H��

�
�
�
��6!�
 3��3F$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
������
��� ������
���� ��� *
����� ,� )�����
����� 
�����
������
���������������
�������*
������
����������*��)��������	
����� 
���?�� D����������*�
��
�
�������������81�*���,�<1�R2��*��
������������������*���
�������������������������������
���������
���$�
�
�
�
� �
�














































Y

�"$1)$'��1 .$
)B?�),�+�
)$
U 
�),?)1'"
�
!�
1"$1)$'��1 .$
 $ 1 �!
+)
?�"? "$�'"
+)
8 $ !"��
























�)+ " 2
(,')�


































BY��@

fw���
:-C

2
;1 +"

































































BY�5�
fw���
:-C


O62 2PQO�
C
EQA
,1���
 1$100=.� 1$1111.�

O6+2 2PQO�
C
EQA
,1���
 1$11<N0� 1$11110�

O"2 2PQO�
C
EQA
,1���
 1$1<>>0� 1$111;1�

O62 2PQO��>�
EQA
,1���
 1$1=-.=� 1$11118�



�



3��
	$)B",


� ;=;



	��G�
33�� �����������
 
 
 
 
�����	���
 
 
 
 
��
 
 
 
 
���

 
 
 
���
����

 
��


��������	��4�
 ��
 �������	��
 ��
 -�����
 5
 �����

�����4����
��

�	
��������
��
�������	��
��
-�����

�	�	���	�	
���
���	�	
-
��
������������������
��

������	�
-�
������
�������
�4����A��G	��
	
@�
H�
�

�




��6!�
 3����$� ��
���
���� �
�������� ��� ���� ��������� ��� ��
��
������
��� ��� ������
���� ��� *
����� ,� )�����
����� 
�����
������
���������������
�������*
������
����������*��)��������	
����� 
���?3�D�
����<1�R2$





























�

�

�

�

�

�
�

�

�
�
�
�
�
�

�)+ "

2
(,')�



































































B�����w��:-w���
:-C

2
;1 +"

























































B�����w��:-w���
:-C


O62 2PQO�
C
EQAI)B�$"
 -$1-<� 1$-1>�

O6+2 2PQO�
C
EQAI)B�$"
 1$.8N� 1$1.=�

O"2 2PQO�
C
EQAI)B�$"
 -$N-1� 1$-;8�

O62 2PQO��>�
EQAI)B�$"
 -$;0.� 1$1=1�



�

� 08;

�
�
�

�



�

 

3:


�),92)$
)$
 $0!(,
+)
!�
�), ,
�"1'"��!

�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



�

� 08=

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

�



�

�

�
�

���������5
�

�����	


FACULTY OF CHEMISTRY 
���	������
�

������	�
�����������




�
�

�
�

�
������
��
�����
�;�������"
������


�������������	��
��"��������������������������������

��
��������	�����
���������������	���
	�

������
�����"
������
�

�
�
�
�
�
�
�
�
�


�	������
����
���������

��������

�

�
�
�

�����	
�����
�





�

� ;=8�
�




�

�



�922��/


� ;=>�
�

����	�5


�
�
����
��3������,
 ��� ���3������� �3������3,� �
��
����
�
 !�7�� 	����
�� 	�����
��
�� �
	�
��
����
�����
���� �7�������
����������
	�
��	����������	������������
����������
����

7�%��	�������7���
�7����7��
	��7���
����
��
�"�����
*���3���*,�5
�������
��S ��
���
�
�B���
��7��������,7������
	�"�������� �
�->>8� $��3�������
����
�3���*��
��D��
����
�
��� �3�� !-0� ���
��������������
�23������,"�G3��3� ���� ����3� ���
������ ����
���G3��3�

�G�����
���� �
������������ �3�
���*������
���$� ��3�����
��������������
�3���
������
��7�


=$� �3�������
�������������������D���#���3�����

�������G�����������3����
���
���
�
�3������
��T��

<$� �3�� 
��� ��� ������ �
����
��
�:*�
��
� �
*���
����� �
��
��
�� �����
���� G3�
�����
�����*��T��

N$� �3�������
�����
���,:�������
�����������T��3��*������������G�����������������
������
�����������
��3�������������$�

�
�3�����������
�*�3�
���
�3�������������������������������������3�����*���������
���
��
������,�� �
� �3��� ����� ����
���
�� ��D��� G������ *�����
�
�����
�� �
�� �� �����
��� �
� 
�
:
��
�G�*�������
����$�%
��3���������3���3��������
�
���,����

������
������*��������
���
�������������,� ���
��� �3��3
������

�������3�������G����������
�����
�� �3���
���,� ���
��
�
���$� ��� ��� 
�� ��� ����
������ �
�� �
��
����� ��� �
������� �3�� ����
���:�������
�,� ���
�3������� ����������� ��
���#�� �����
�� ������� �
�� ��� �
��������� G3�
����� �����*����
�������� 

�����������
�� �
����
���������� B�������� �
��
���������
C� �
� �
�3���G�,� �3��� ���
3�����
�������������
��3���
����
��
����
�������H������
����
�*����
�
�3�
���������,�
�
� �������� ����
����$� I
�� �������3� ����� ��� ������ �
������� ��� �3�� ���������
�� ��� �3��
��������
��� ��������� ����
��� �����

��� 
���� �
� �������
� �
�� ���������
� ���������� ����

�G������
�����������
�����
�3������
�����	
�����
���
��������������
���$�
�
��
��� ��	
����� G3��3� ���� ������ G��3� �����
�� ���
��� ������ ��� ����� ��������
���� ����
������
�� ��� ����
�����,� ����
� �����
��� ���� �3������� ���������� *���
��� �3�,� ���*�
��
������
���

�*������
*����,������������G��3�
������*��������������
�����
��3��3��3������
�
�� B�������:C� �3������� ���*�������$� �3�,� ��
� *�� 
���� ��� �������
� ������� G3���� �3�,�
�
3�
����������
��������
���������������$������������3�����*�
����
������
�����	
�����
��
�
���������������*�
� ���D���� ��� ����
�����
��*���
��� ����
������
�*�� ���������� �����
��
��� ��	
���� *,� �D�������
� G��3� �
������������ ���*�
� ���D���� G��3�
�� �������*��� ��
���
��	
�����
����
����
��
������3��
������*������
*����,������
�����	
�����
����*�
����D���$�
��
�����	
������
������*��
����������������
��������
��
����������	
������*��
���G��3�
�3�����������������
���3����
�������
����G3��3��������
��3��������D��
������
��G�����
��
������
��3����������������$��






�922��/


� ;<1�
�

�3�����
��*+�����������3����3�������������������
�G�*������������*������
���
�����	
�����
���*�
����D�����
�����*��
�����3
����,�������*�
����������
��
�����������
��������
�
������ ��� �������� �3�� �������
�,���� �3�� ���������� �
�� ��
���#�� G����� ��
������
� �
��
�
���,���
�
�����
$

�
5� G���� ��
��� ��� ��
��� ��	
���� B���C� *����� �
� -:��H,�:;:���3,������#���
�� �����
� �
�
���*�
����
�G��3�3�D���
����3���3�����
��*�� B̀�����
������3,�C�
���
,�a�������
��
��
G���� ������� ��� �������
� ������ ���� ������� �����,#��� ���
��������������
� �
� ��G� G�����
��
�����
��<�"�
����0=*�S ��3��3����������������
���3���������,��
�?�������������,�����3��
�������������
���������
���G�����������������
�����	
����������
�3�����	
���*�����
�G��3�
�	
��
�� ���
���
����� ������� J�(2I;����J�02I;����� �3�� �������
���� �����3,����
�$�5���
�������
��� G���� ��

�� ��� �
3�
��� �3�� �,
�3����� �������,� ��� �3�� �
#,���� ��
	�	��
�
��������� ������� @� B2��@C�� �3�� *���� ���
���� *��
�� ��3������ G��3� �3�� �������
� ���
�����3,����
�$��
�
A�
���G����:�����*�����
�����	
����3����*��
��3�G
������
��
������3��������
#,�����3��
����*��������
����2��@� ��� ���������
H��� �
#,��� ���������� B2�/5C��G������������
���
G��3� �3�� ���� ��� ��
����
�� �
#,���� ������
�� ��� �3���� ��
��
��
�� ��
��� ��	
�����������������
B�"�
���� >=$� �3��� ����*���#���*�������,��� ��������� �3�� ��,�����
���� -:�3�
,���3�
���
�
�� -:�3�
,���3,����
�� G��3� 3��3� �
�
�������������,� �
� G����:�����*��� ��
��� ��	
�����
�
�3����O*���PQOJI;

:Q��
��O*���QO���Q��
�

�3�� �
���*����,� ��� 
��
�� ��
��� ��	
���� ��� �������
������� G��� ����� ������� G��3� �
��3���
�
#,�������
������
�����,�����B��5T�/2�;$<$-$--C��G3��3�����3��H�,��
#,���
�����
��3��
�
�
������� ����
����
� ��� Z:������� ��
������
� �
��*������� B�"�
���� #M$� �������
�� ��
���
��	
���� *����� �
� ����H,������#���
�� �����
�� ����������� G��3� �����
���
����� �
��
*�� B̀�����
������3,�C�
���
,�a������ �
��
��� G���� 
���� ��� �
���������� �3�� ������ �
��
���������
������3����
�G������
������������������
������
�����,����:�����,#����������
�$�
���G��� �3�G
� �3��� 
��������
������
�����,����� �D3�*�����3��3��� ���*����,� �
� �3������,���
�����3�
��
������
�����
��������
��$�

�

I���
��3��������D��
������
��G�����
��������
�������
������������ �3�����������
�����3��
��
��� ����
��$� �3�� ����� �����
�,� 
���� ���3���� ���� ��,������#����
�� �������
���
�����������
� �
�� �����
�� �D�������
$��������� �3�������3���� ���� ���3
�����,� ����
��
���
�
������ ��
������*��� �
���,� ����� �
�?��� ���
��� �
� ������ ���

��� ��� G����� �����
��$�
���*��
�:*��������������
�����������3����*��
������
�#���������������
�������
������
��
����3�,����
�����	
����3��3��
���,���
�
�����
������3������������
��
��*���
����3�,�
��
�*����
�
�����

��������������������
����
�����
���
��G��3� ��	
�
�������������
$�
5��
�����*��
�:*��������������
������������ �3��
�������
�������� ��	
������*��
���
BA���C������
���
�������G3���������������������G��3�����	
����3���

����
������
������
�
�3� ��� �3�� ��
����� ���

�� ��� �����
�� 
������ �
�� �3�� ����� �3��� �3�� ���������� ���
�D�������
� �
�� �������
�� ���� ���*�
��� �
��� �
�� ��
���� �����$� J�����3������� �3����
�
�
������� ����������
� ��� ������ ������������
�,� �
�� �����
���
�� �*�
��A������*����,� �
��



�922��/


� ;<-�
�

��
�:�������������
��$�I
���������
�������
������ ��� ���
��� ��
��� ��	
������� �
��������
��	
����3���$��
�� ��� �3����
�
:����
��*�������
�������
�������*�
���G��3� �3����������
��������,� ������ ����������� G��3� �3���� ���������,� 3��3� ��������,�� G3��3� ��
��� ���
���
����������
������3����	
����������3�������
�������

���������
�����
���3�������*����,����
��
���#�
���3�������
*����,��
��3���
���

��
���3�����*,����	
������������
�����3�������
�
�
�� �
��
�� ��� ��� �����*��� ����*���
����,� ���*��� �
�� �
����
��
����,� ����
��,� �
��������
��	
��� ���*��
��� 
��
�� ��
��� ��	
���� ��� �
�������� ��	
��� �3���$� �
� �"�
���� $%
 ��
���*��
��*������������
���
�
�� �� �
�������� ��	
������*��
��*������
� ��
��� ��	
����
G����
������
��,�������������3��H�
����������
���
�������--:�3�
,���3�
���G3��3����
����
����3�����*
����
��*���H��
���,
�3������
������������
���
�:�3��������
���3������
�������
�����,#���*,�������������� ����*���#�����
	�	���
��������� �������@� BJ���#,��=;<C$�
�3��� �,����� �
��������� �3�� �
�
������������� �����,���� �����
� ��� �3�� �
#,��� �
�� �3��
���������� ������*����,� ��� �3�� �����

��� �3��
�3� �3�� A��$� 4����*���� �������
�� �3��
��������
��� ��� �3�� �*���� *���������� G���� �
����������� �
� ������ ��� ������#�� �3��
�
����������������
?���������
��������$�5�����0=�3������������
���3��B4C:-:�3�
,���3�
���
G��� ���������� ����� �3�� B$C:-:�3�
,���3�
��� G��3� �� ���,� 3��3� �
���,$� �3��� 
�G�
���3
����,�G���������������� ����3�� �����
���
�������-0:��
��
���B�"�
����%C$��3��A:0:
��
��
��� ��� ���3����� �
����������� �
� �3�� �,
�3�������� �������� ����
����� �
��:5�#3�����p��
��
����3��� �
3�*���Z:��,����������������������
�?��������,
�3����$��3��H�
����������
���
�
��� ���-0:��
��
��� *,� ���
��������������
� G��3� ��
,�� ������� �����,#��� *,� �� �����������
����*���#�����
	�	���
����������������@�BJ���#,��C�G���������
������
��,����������
��
�
��3������*��
��*����������G��3��
����������	
������*��
��*������
���
�����	
���$��
�
��
��
���
��
�G����3���������������3����������������
����
�����
�
�����������,��
������
�
���3��������

���3����*��
����������$��
�
�3���D����
������
����������?��2I0�*��3������,������ �������,��
���,
�3�����*�������,����
����
������������
��
3,���
����
�����
��3���*��
�����
�������$��S 3�����������������
�
���	
����������
����
��
�������3���
#,�����3��
�������
���������������*�
����D���������
����
���3�����
�*��3������,�������������������������,�����3������
����G��3�
���
,������:
��
����
����
� ��� �3�� �D������ G��3� �3�� ���$� �3�� 
��� ��� �
������������ ���*�
� ���D����
B��2I0C� ��� �� ����
�� �3���� ��� ���������,� ����
�����
��*���
��� ��� ����3����� 
�
:��D����

�
:�
������*���� 3��� �� 
���� ��*��
�� ��������� ��������
��� B;-$;� R2C� �
�� �� ���������
��������������
���B.0$>�*��C$��
��3���"�
����&�����,
�3�����*�������,���������������*�
�
��
��2I0�� ���� �
�� ���*��
�� ���3
����,� G��� �
����������$� �
� �3�� ��?��2I0� *��3�����
�,������� �3�� ����*���#��� �
#,��� B����� ��
	�	�� �
��������� ������� @C� �3�G��� �
�
�
������� �
� �3�� ����������,� ��� �3�� �������� ��������� G��3� �
������������ ���*�
� ���D����
����,����
��3���*��
��������$�%
��3�����
�����G������
�
������
����������

������
���3��
*�3����
�� ��� �3�� �
#,��� �
�� �3�� ����:���
����� �3�
���
�� �
� ��?��2I0� *��3�����
�,�����$� �3���� ��
����� �3�G��� �3��� �3�� �������
�,� ��� �3�� ��?��2I0� *��3����� �,������
G���� ����
��
�� �
� *��3� �3�� ����������,� ��� �3�� �
#,��b��� �
��������
�� �
�� �3�� ����:
���
������3�
���
��*��G��
�����
����2I0��������*����3����$��
�



�922��/


� ;<0�
�

%�
���,�� �
��"�
����'� ��
�����
��
���
���
���
��
����H��
��3���
�
�������
����������
���
��	
����� �
������������ ���*�
� ���D���� �
�� �
�������� ��	
��� ���*��
�� ���3
����,� ����
�����
���$��
�
�
�
�
�
�
�
�
�



��6!)
">
1"$')$',


� ;<;�
�

�	-��
�

��������

�
�
�
3�


���	�������
�

	������5
	��

����������5

��

���	��E

�	�	�5���

��	��������
��	����

��

�����
�������
-5



���

���
�

	���������M M $$M M M $M M MMMMMM $$$M $$$$$$$$$$$$$$�

�

�

����-�

������-$-$��
����
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$� ;�

������-$0$������������
�����3���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��=�

������-$;$�6��
�����
������
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��N�

������-$=$�2�
��
���
�$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��-0�

������-$<$�6�����
���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��-;�




��


	



�����E���S��




���5��




	�����	��




�





��������

����������

���	��

-


��


	�����


��


���	������


�����


�������$$$$$$$$$$$$$$$$$$M M M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$�

�

�

�

-<��

������0$-$��
����
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$� -.�

������0$0$������������
�����3���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��-.�

������0$;$�6��
�����
������
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��01�

������0$=$�2�
��
���
�$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��00�

������0$<$�6�����
���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��0;�




:�


��	-����	����
�

�	����
����������
�
	�5�	��
-5
�����


�������$$$$$$M M M MMMMMMM $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$�

�

�

0<��

������;$-$��
����
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$� 0.�

������;$0$������������
�����3���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��08�

������;$;$�6��
�����
������
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��;1�

������;$=$�2�
��
���
�$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��;N�

������;$<$�J���
����
��$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��;N�

������;$N$�6�����
���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��;.�



��6!)
">
1"$')$',


� ;<=�
�




=�


������	���
��	�����A���	�	����
���������

��
���


S������

����������

�


��� 3E����5����	���

������

���������
������
���-�	���
-	���
��
�����
�������$$$$$�

�

�

�

��=-��

������=$-$��
����
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$� =;�

������=$0$������������
�����3���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��==�

������=$;$�6��
�����
������
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��=>�

������=$=$�2�
��
���
�$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��N0�

������=$<$�J���
����
��$$$$$$$$$$$$$$$$$$$$$$M M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��N0�

������=$N$�6�����
���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��N;�

� �
�

@�


��
���
�����������
�

	
��Z 
������	���
���-�	��


�������




Z ���



�����




�������





��




���




S������


����������
�

��� �E����	���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$�

�

�

��N<���

������<$-$��
����
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$� N.�

������<$0$������������
�����3���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��N8�

������<$;$�6��
�����
������
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��.;�

������<$=$�2�
��
���
�$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��8<�

������<$<$�J���
����
��$$$$$$$$$$$$$$$$$$$$$$M M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��8N�

������<$N$�6�����
���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��8.�

� �

C�


	

��Z 

��������	����

���5�	���

���-�	��
��	����



��



�����


�5�������


��


�����


������A�����������	�


�	�-��
���G���
-���	���
�5�����$$$$$M M M MMMMM $$$$$$$$$$$$�

�

�

��8>���

������N$-$��
����
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$� >-�

������N$0$������������
�����3���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��>0�

������N$;$�6��
�����
������
����
$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� ��>N�

������N$=$�2�
��
���
�$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� -1N�

������N$<$�J���
����
��$$$$$$$$$$$$$$$$$$$$$$M M M $$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� -1.�

������N$N$�6�����
���$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$� -18�



��6!)
">
1"$')$',


� ;<<�
�

D�


�����������
	��
������S$$$$$M M M MM $$$M M M MMM $$$$$$$$$$$$� ---���

������.$-$�2�
��
���
�$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$M M $$$$$$$$$$$$$$$$$$$$$$$$� --;�

������.$0$�I
����H$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$$M M M MMMM $$$$$$$M $$$$$$$$$$$$$$$$$$$$$$$$$� --<�

� ��

� �

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



�

� D���
�

�
�

�
�



�

 

3


�$I�$1)2)$'
">
�1' 8 '/
�$+
,)!)1' 8 '/
 $
! ?�,)E
1�'�!/*)+
'��$,),')� > 1�' "$
 $
 "$ 1
! <9 +,
6/


'I)
9,)
">
�++ ' 8),

�

@52\�6I�J�7�
A���
� ��
�����	
����B���C�*������
�-:��H,�:;:���3,������#���
�������
��
����*�
����
�
G��3� 3�D���
����3���3���� �
�� *�� B̀�����
������3,�C�
���
,�a������ �
��
�� G���� �������
����������
�����������������:�����,#������
��������������
��
���G�G�������
�����
�$�S ��3�
�3������������������3���������,��
�?�������������,�����3���������������
���������
���G����
�������� ��� ��
��� ��	
��� ������ �
�3� ��� �	
���*�����
� G��3� �	
��
�� ���
���
�� ��� �������
J�(2I;� ��� J�02I;�� ��� �3�� �������
���� �������,���� ���

����� �� 
�
:�������������
���
*��������3���������
���D�
���������3,����
�$��
6/A���A7�
�3�� �������� ��
��� ��	
���� �3�G��� ��� *�� �D�����
�� ������ ���� ������:�����,#��� ������
�,
�3�����*,� ���
��������������
����������G��3���
��
���
�������
��� �����
���� �
�3� ����

:3�D�
�$� 5��� �3�� �������
��� G���� ��

�� ��� �
3�
��� �3�� �,
�3����� �������,� ��� �3��
�
#,�����3��*�������
����*��
����3������G��3��3���������
���������3,����
�$��3���������
�
����������,�������

������3���*��������3���������
������
������
�����
���
��������
�*��3��3��
�,
�3����� �������,� �
�� ����������,� ���
��$� %��� �
���
���� �3�� �,
�3����� �������,� �
�
O����PQOJ��0

:QG��� �
3�
���� ����� �3�
� -0� ������ �
�� �3�� ����������,� �
�������� �����
8NY����><Y�G3�
������3,����
��G���
���$���
2IJ2��A�IJ7��
�3���� �������
��� ��
��� *�� ���,:��:
��� �������3��� ��� �������� �3�� �������
�,� ���
�
#,�������������
���
���
�����	
����G3�
��3���������
����������
�����������3�,$�
�

�
�
�
�
�

�



�

� -0�
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

��
�



3�
�$I�$1)2)$'
">
���-
�1' 8 '/
�$+
,)!)1' 8 '/
 $
 "$ 1
! <9 +,
6/
'I)
9,)
">
�++ ' 8),


�;<>

3�
 ���	�������
 �

 	������5
 	��
 ����������5
 ��
 ���	��E


�	�	�5���
��	��������
��	����
��
�����
�������
 -5
���
���

�

	��������






3�3�
������������

�
�3�� 
��� ��� *�������,���� �
� 
�
:�	
��
�� �
����
��
��� 3��� ��������� ���G�
�� ����
���
�
�
��
�� �3�� ����� �G�� �������� �
�� ��� �3�� ����
������ �3�,�������� �
�3� ��� �3�� �����*����,����
����,�
�� �
�� ���������� G3��3� ���� �3�����,
�������,� 

����
��*��� �
� G����� B�$�$�
���
��������������
C�� �
������
�� �3�� ���
*����,��������
��� �
*��������� �
�� ��������
�� �
#,���
�
�� ����
��� �������,� �
� ��
���3������,�O-Q$�5��
�� �3���� 
�
:��
��
���
���������� �����
��������
��� ��
�����	
����B���C�3��������
��,������������� �
�������
�������
������
����������
���������� ����
��� �����
��� O0:=Q� �3��� ��� ���
�,� �
�� ��� �3���� ������� 
������*��� ����
��
�����
���� �3���� �3������ ���*����,� O<Q� �
�� �3���� G����,� �

�*��� ����������� G��3� ������� ���
�������,�� 3,����3�*����,� �
�� �����
�� �����*����,� *�3������ *,� ���
�� ��� �����������
�����������
�����3�������
��
���
��
�ONQ$�
�
������� �3�� -:��H,�:;:���3,������#���
�� �
�� -:��H,�:�,����
�
�� ���������� �
����*�
����
�
G��3� �
��
�� �
�3� ��� �������
���*������� 3�D���
����3���3���� �
��
*�� B̀�����
������3,�C�
���
,�a������ 3���� *��
� �3�G
� ��� *�� �
���*��� ������ ���� ������:
�����,#������
��������������
���
3�
��
���3���,
�3������������,��
��B�
�
���C����������,�G��3�
�������� ��� ��
��
���
��� ����
��� �����
��� �
�3� ��� ����:*
�,�� ����3��� O.�8Q�� ���D�
�� O>Q��
���
�
��O-1Q���
��
:3�D�
��O--Q$��3������,����
����G����
�����G�,����
�����
��������*�,��
��
������
����������
���
��������3������������
�����3����
�����	
��$�(�
�������
���������
���������
����
��,��������
����O-1��-0Q$�
�
�������
�� ���3���� 3��� *��
� ��������� ��� �
3�
��� �3�� �,
�3����� �������,� �
��
B�
�
���C����������,���� ������:�����,#��� �������
�$�5��
�� �3�������3����� �������
����� �3��
�������
� ��D�
��� G��3� �
� ��������� 3��� *��
� �3�G
� ��� *�� �� ���,� ��
��
��
�� G�,� ���
�������
�� �3�� �
������ ��� �3�� �������
� *���
��� ��� ���� ���������� ���������,� O-;Q$� � A����
�
�3���� 3���� 
���� *����� �
�3� ��� �����3,����
�� ��� ��������� ��� �������� �3�� �������
�,� ���
������� �������
	�	���
��������� �
�����
��������
���O-=:-<Q$��3����������3�������
��G��H�
G��������
�,��3���*����,���������2��@���������,#���3���,
�3��������*
�,��*
�,�����������
�,�

���� �
� �3�� ������� �
�
���,��*,� ���
��������������
� �������
,��*
�,����� �
�� -:*
��
��� B����
�1I)2)
3�3C�� ��� �������
�������� �
� ����
�G����:�������*��� ���� ���G���� ��� �
� �������
�
G����:�������*�������
��������
����
:3�D�
�$��
������������������������
�����3���
���������
�
�������
���
��������*,����H��
��\�#��
�H����O-1Q�G����������$���
�



3�
�$I�$1)2)$'
">
���-
�1' 8 '/
�$+
,)!)1' 8 '/
 $
 "$ 1
! <9 +,
6/
'I)
9,)
">
�++ ' 8),


� ;N1

�
�
�1I)2)
3�3�
A����3�����������3������
H�
�������,���
���������,
�3��������*
�,��*
�,������������
,��*
�,�����
�
��-:*
��
��������,#���*,�2��@$�
�
�
�
5������
���������
������
�����	
������
�������������������3��
�������3�����3����
�����	
������
�������
�������� �������
�� �������
���G�������������
���
�O*���PQO�%N

:Q�����
��� �
�3� ���
�	
���*�����
�G��3� �	
��
�� ���
���
����� �������J�(2I;����J�02I;����� ����
�� �������,����
���

������
�����
���*����������3,����
�������3���������
���D�
��$��3������,������3����3���
���������������3���������,��
������������,����2��@�G����3���
�����D��
���3����
�,�����3��
��
�������3�������������
���
����*���$�


3���
�G��������	�

�
3���3�
�$*/2)
�$+
1I)2 1�!,


�
5� ����������� ������� B/2� ;$-$-$;C� ����������
� G���� 
���� ��� �����,��7� ����� ��
	�	��
�
��������� ������� @� B����#,��� 2��@� �C�� G3��3� G��� �� ����� ����� J���� /���E�� A$5$�
B��������A���
C$����������
�����3���
#,������
���
�G���=:��������
�����
��3���3����*
�����
01� ��� ��� �(� .$� A���
� G����:�������*��� ��
��� ��	
���� G���� 
���� B���� 
 09�)
 3�3C7����������������
B�C� -:*
�,�:;:���3,������#���
�� 3�D���
����3���3���� BO*���PQO�%N

:QC�� B��C� -:3�D,�:;:
���3,������#���
�� 3�D���
����3���3���� � � � � BO3���PQO�%N

:QC�� B���C� -:���,�:;:
���3,������#���
�� 3�D���
����3���3���� � � BO����PQO�%N

:QC�� B��C� -:��3,�:;:
���3,������#���
�� *��B�����
������3�
��
���
,�C������ BO����PQOJ��0

:QC�� B�C� -:*
�,�:;b
���3,������#���
�� *��B�����
������3�
��
���
,�C������ BO*���PQOJ��0

:QC�� B��C� -:3�D,�:;:
���3,������#���
�� *��B�����
������3�
��
���
,�C������ BO3���PQOJ��0

:QC�� �
�� B���C� -:
���,�:;:���3,������#���
�� *��B�����
������3�
��
���
,�C������ BO����PQOJ��0

:QC$�
O*���PQO�%N

:Q��O3���PQO�%N
:Q��
��O����PQO�%N

:Q�G�����
��3����������A����
���

������
�
B2����
��������
,C� B�
���,�U�>8YC��3�� ��
�����	
����O����PQOJ��0

:Q� B�
���,�U>>YC��
��
O*���PQOJ��0

:Q� B�
���,� U>8YC� G���� �
��3����� ����� A����� 23������� �
�$� B@���33�����
%��
��C� �
�� A����:5�����3� 23�������� 2�$� B�������� A���
C�� �����������,� �
���
O3���PQOJ��0

:Q� B�
���,� U>>YC� �
�� O����PQOJ��0
:Q� B�
���,� U>>YC� ����� ����H� \��5�

B����������������
,C$�5��� ��
�����	
����G����
�����������
���������
�*,��������������
����
�3�� ���3��� �
�������� *,� ���H� �
�� \�#��
�H��� O-1Q$� � A
*��������� �����
��� �
�� ��3���

CH3-CH2-CH2-COO-CH=CH2

CH3-(CH2)2-CH2OH
CH3-(CH2)3-COO-(CH2)3-CH3

H2O
CH3-CH2-CH2-CH2-COOH

Lipase
P

P

Lipase

P



3�
�$I�$1)2)$'
">
���-
�1' 8 '/
�$+
,)!)1' 8 '/
 $
 "$ 1
! <9 +,
6/
'I)
9,)
">
�++ ' 8),


�;N-

�3��������G�����
��3����������A����:5�����3�23��������2�$�B��������A���
C���
��G����
����3��3��3�����
���,�������*��$�












N N
RH3C

R= CH2CH3        1-ethyl-3-methylmidazolium  (emim+) 

R= (CH2)3CH3    1-butyl3-methylmidazolium   (bmim+) 

R= (CH2)5CH3   1-hexyl-3-methylmidazolium  (hmim+) 

R= (CH2)7CH3    1-octyl-3-methylmidazolium   (omim+)

P

F

F

F

F

F

F

Hexafluorophosphate (PF6
-) Bis{(trifluoromethyl)

sulfonyl}imide (NTf2
-)

N CF3
S

O

S

O

OO

CF3
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R= CH2CH3        1-ethyl-3-methylmidazolium  (emim+) 

R= (CH2)3CH3    1-butyl-3-methylmidazolium   (bmim+)  

R= (CH2)7CH3    1-octyl-3-methylmidazolium   (omim+)
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medium αααα1 k1 (min -1) k2 x 104 (min -1) t1/2 (min) 

[emim+][NTf2
-] 0.66 0.0193 2.06 1392.3 

[bmim+][NTf2
-] 0.59 0.0157 1.33 565.0 

[bmim+][PF6
-] 0.34 0.0188 2.01 76.1 

[omim+][PF6
-] 0.40 0.0351 5.00 47.7 

[bmim+][BF4
-] 0.33 0.0643 12.94 17.5 

2-propanol 0.11 1.1834 240.59 0.7 
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medium αααα1 k1 (min -1) k2 x 104 (min -1) t1/2 (min) 

[bmim+][PF6
-]              0.67 0.0121                     4.51                               669.9 

[omim+][PF6
-]              0.31                      0.0078                   91.70                                             165.7 

[bmim+][NTf2
-]            0.07                      0.0070                      5.24                              114.7      

[bmim+][BF4
-]              0.47                      0.0435                      4.13                                               79.5                           

[emim+][NTf2
-]            0.28                      0.0258                      0.16                                42.5 
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                                              Permeability ×××× 10 6(cm/s)  SLM 

(R)-1-phenylethanol (S)-1-phenylethanol Vinyl 
propionate 

(R)-1-phenylethyl         
propionate 

(S)-1-phenylethyl 
propionate 

Propionic 
acid 

Nylon  with  [bmim+][BF4
-] 152.0 151.7 21.6 13.1 

 
11.7 107.7 

Nylon with  [bmim+][PF6
-] 43.1 42.5 12.7 6.6 6.3 23.2 

Nylon  with  [bmim+][NTf2
-] 147.7 144.6 49.9 32.8 31.7 71.9 

Nylon  with  [omim+][BF4
-] 157.5 156.2 42.7 28.8 27.7 98.8 

Nylon with [omim+][PF6
-] 59.4 59.2 38.6 17.1 15.8 34.3 

Nylon  with   [omim+][NTf2
-] 148.6 148.7 77.4 51.4 49.7 78.8 
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Ionic liquid Average Permselectivity 

[bmim+][BF4
-] 6.3 

[bmim+][PF6
-] 3.5 

[bmim+][NTf2
-] 2.6 

[omim+][BF4
-] 3.1 

[omim+][PF6
-] 2.2 

[omim+][NTf2
-] 1.9 
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Compound Permeability ×××× 10 6(cm/s) Average Permselectivity 

Reaction system 2


(R)-1-phenylethanol
 134.18


(S)-1-phenylethanol
 133.24


Vinyl butyrate
 9.66


(R)-1-phenylethyl butyrate
 4.41


(S)-1-phenylethyl butyrate 4.43


Butyric acid
 51.35


 

 

 
 

10.98 

Reaction system 3


(R)-1-phenylethanol
 105.97


(S)-1-phenylethanol
 105.15


Vinyl laurate
 0.09


(R)-1-phenylethyl laurate
 0.06


(S)-1-phenylethyl laurate 0.06


Lauric acid
 0.09


 

 

 
 

711.7 
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                                              Permeability ×××× 10 6(cm/s)  SLM 

(R)-2-pentanol (S)- 2-pentanol   Vinyl propionate (R)-2-pentyl 

propionate 

(S)-2-pentyl 

propionate 

Propionic 
acid 

Nylon  with  [bmim+][BF4
-] 26.28 26.35 15.50 0.46 

 
0.48 46.61 

Nylon  with  [omim+][BF4
-] 50.37 49.95 30.50 2.19 1.96 50.43 

Nylon with  [bmim+][PF6
-] 25.80 26.20 20.99 0.63 0.57 40.98 

Nylon with [omim+][PF6
-] 18.70 18.77 21.28 2.07 1.98 14.50 

Nylon  with  [bmim+][NTf2
-] 48.46 48.37 46.05 6.02 5.92 44.55 

Nylon  with   [omim+][NTf2
-] 84.6 83.2 71.95 26.01 26.33 51.69 
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  Ionic liquid Average Permselectivity 

[bmim+][BF4
-] 32.5 

[bmim+][PF6
-] 25.2 

[omim+][BF4
-] 11.3 

[omim+][PF6
-] 5.1 

[bmim+][NTf2
-] 4.4 

[omim+][NTf2
-] 2.0 
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                                              Permeability ×××× 10 6(cm/s)  SLM rP 

(R)-2-pentanol (S)- 2-pentanol Vinyl butyrate (R)-2-pentyl 

propionate 

(S)-2-pentyl 

propionate 
Butyric acid 

Nylon  with  [bmim+][BF4
-] 34.0 28.70 27.52 7.08 0.32 

 
0.31 27.13 
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-] 

Vinyl propionate 1.10 1.15 0.71 0.22 

1-Butanol 5.21 3.63 2.46 0.68 

Butyl propionate 0.51 0.49 0.15 0.03 

Propionic acid 6.77 2.43 2.66 1.31 
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